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1.

INSTRUCTIONS FOR CANDIDATES

The OMR Answer Sheet is inside this Test Booklet. When you are directed
to open the Test Booklet, take out the Answer Sheet andfill in the particulars
on Side-1 and Side-2 carefully with blue/black ball point pen only.

The test s of 2%2 hours duration and consists of 150 questions. Thereis no
negative marking.

Use Blue/Black Ball Point Pen only for writing particulars on this page/
marking responses in the OMR Answer Sheet.

The CODE for this Booklet is IF. Make sure that the CODE printed on
Side-2 of the OMR Answer Sheet is the same as that on this Booklet. Also
ensure that your Test Booklet No. and OMR Answer Sheet No. are the
same. In case of discrepancy, the candidate should immediately report the
matter to the Invigilator for replacement of both the Test Booklet and the OMR
Answer Sheet.

This Test Booklet has five Parts, I, Il, I, IV and V, consisting of 150
Objective Type Questions and each carries 1 mark :

Part-l : Child Development and Pedagogy (Q.Nos. 1-30
Part-ll : Mathematics and Science (Q.Nos. 31-90
Part-lll : Social Studies/Social Science

Part-IV : Language- (English/Hindi) (Q.Nos. 91-120
Part-V : Language-Il (English/Hindi) (Q.Nos. 121-150
Candidates have to do questions 31 to 90 EITHER from Part-1l (Mathematics
and Science) OR from Part-lll (Social Studies/Social Science) as filled by
the candidates in their online application form.

Part-V contains 30 questions for Language-l and Part-V contains 30 questions
for Language-Il. In this Test Booklet, only questions pertaining to English
and Hindi language have been given. In case the language/s you have
opted for as Language-l and/or Language-Il is a language other than
English or Hindi, please ask for a Supplement (Language) Test
Booklet of IF Code that contains questions on that language. The
languages being answered must tally with the languages opted for
in your Application Form. No change in languages is allowed.
Candidates are required to attempt questions in Language-Il
(Part-V) in a language other than the one chosen as Language-|
(Part-IV) from the list of languages.

Rough work should be done only in the space provided in the Test Booklet
forthe same.

The answers are to be recorded on the OMR Answer Sheet only. Mark
your responses carefully. No whitener is allowed for changing answers.
In case of any discrepancy in the English and Hindi versions of questions/
answers, English version will be taken as final.

)
)
(Q.Nos. 31-90)
)
)
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PART -1/ ¥IFT - 1
CHILD DEVELOPMENT AND PEDAGOGY / 911 fas1 9 Riemem=

Direction : Answer the following questions (Q. Nos. 1 to 30) by selecting the correct/most appropriate options.

9T : freferfaa go4t (9. & 1 9 30) & W a7 & 100 Ge/aad Suga faehed g/
1. In an inclusive classroom the teacher :

(

1)
(2) Modifies the curriculum and pedagogical strategies to suit varied needs of children.
(3)  Tries to encourage children to do better by promoting competitive spirit.

(4) Identifies ‘deficits” in children and correctly labels them.

Teh TG shel § e

(1)  3TerT-3Te JeIforeh &Taish & SR T =ai i 3Tel HIdl 7 |

(2) w=di ot fafv= sTevTERdietl o ATET qIeT=El SR et oI Sl HEifid e § 1
(3) wfaEayl il el 1 SETEN o Toa i JIBa i oh foTT FIHTTEd hi ohi IR Hdl ¢ |
(4) o=a H ‘Al T TEAH AT 8 SR TR Fol S | ATHIH Ll § |

Segregates children based on differing academic capabilities.

2. Universal design for learning does NOT involve :
(1) Providing all learners alternatives for demonstrating what the learners know.
(2) Tapping into all learners” interests and offering challenges accordingly.
(8) Practicing forms of labelling and categorization of learners.
(4) Giving all learners various ways of acquiring information and knowledge.

SAferTe % A stfshed § o wnfhe =& €2
(1) Toremeff s S € 3@ wefifa v & faw wedt frenfeRli 1 fasheq oM e

(2) |t foranfefi o fadi & orf ST SR AETER FRITE! bt USRI HEAT |
(3) frenfefdi o ArieRor iR SffeRvor & faf=r &1 ol @F] |
(4) |t franfel 1 AT SR I I A ok At TR o |
3.  Which of the following are effective strategies to teach new concepts ?
(i) Presenting examples
(ii) Presenting non-examples
(i) Promoting thinking about relationships amongst concepts.
(iv) Giving a definition and encouraging students to rote memorize it.
(1) () (i) (2) (1), (), (i) (3) (i), (), (@) 4) (), (1)
T TFURNE I UM * oy fr=fafed § 9 w0 9 gt WHEtaEr € 2
(i)  S<TEIU GEd h{l
(i) TR~ TEA A
(iii) STEERMSTl & == Heell & IR | Gr= H T |
(iv) T IRY <1 3R BEH &l 36 A6 i & fau diedifed &
1) () (i) @ O G 6@ G) G0 @ 66
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4. While proposing the relationship between language and thinking process, Lev Vygotsky
conceptualized language as a/an :

(1) form of egocentric speech used to only fulfill basic needs.
(2) hinderance to the development of cognitive abilities.
(38) Independent domain which is not related to cognition.

(4) cultural tool which facilitates cognition in multiple ways.

T TR Gre Ufehan & o= Gy 1 TEdd W g4, o d areieent 1 frefafed § 9 fea w9 § o
HAYNTeg, Tkl ?

(1) 9T STCHehTEA T 1 Teh ®9 & TS9eR1 T haa giamet Sedl ol 90 & & fae foran s 2|
(2) TS WHHTCHS &THATeH o faehrd § s1en Sremdt €1

(3) T %I Teh TG & § Silfeh G § Hei(yd e 8 |

(4)

T Ueh WiEhTaeh STHIO § S A I 3 TRl J FITH A T

5.  While there exists a possibility of intra-group individual differences, yet most students with
Autism :

(1) demonstrate advanced communication skills.
(2) express strict adherence to routine or steps.
(3) perform superior skills of imaginative play.

(4) acquire advanced socio-emotional reciprocity.
Freiten SFR-we sAfaaTa fuarell &t Huram disg 8, fR off et amer siferenie fammeff
(1) 394 GaTg & Hieret Jeiid i €|

) fer=at a1 =Rol 1 T | e #d g
(3) THOUARIT Wl % I DIV T JEIH H ¢ |
(4) A AR - e TRETRAT ol ITeI s U ohid 2 |

6.  As per Jean Piaget’s theory of Cognitive Development :
(1) Learning experiences depend on children’s current level of cognitive functioning.
(2) Memorization should be prioritized over learning through experience.
3)
(4) Biological factors such as maturation don’t play any role in cognitive development.

St TSt & deHTeRs forenm o fagid o 1R

Previous knowledge doesn’t play any role in the process of learning.

(1) HrE" % 39a da=di & S fShanstl & adue TR W AR & )

(2) STIVEl o HIEEH § HEH % SN AG LA i Ufshar sl wafiendr & S =ifew |
(3) U9 99 HrEw &t ufshan ® g ofteet & v 2

(4) OfgeEar SR Sifas wRe e fomm | &8 i F&f fam €
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7.  While engaging students who are visually challenged, teachers should use which

(1) Braille, is an auditory system.
(2) Frequency modulated transmission devices; are a tactile system.
(3) Frequency modulated transmission devices; are an auditory system.
(4) Braille, is a tactile system.
31 Fedl o % gfte-anfudn § 3¢ wnfia sd 99, faeent & T ST HTAT =T S
__________ |
(1) 9; Tk 9997 YOleAT © |
(2) 3T HITESH HRT IYH; T 7 ¥ |
(3) ST WG HRT IYHIV; Fa0 G T |
(4) oC; Tk T YOl B |
8.  Fiza analyzes that she has more problems in learning topic X than in learning topic Z because she

is interested in topic Z and is paying focused attention to it. Which of the following construct
describes Fiza’s abilities to analyze her thinking ?

(1) Memory (2) Cognition
(38) Cognitive conflict (4) Metacognition
s 3 forgeroor fohan o 3@ fawer Z dies =6t gorn o fawa X diem o sifyres gaend € =ifs o faw Z

Y &g TEdl ® 3R 39 W oaF shigd o @ | fefafed § 9 e S fimsn ot 9" 1 fagayo @
ST &TAT ShT 01 hidl & ?

(1) = (2) HH
(3) EIHHE Heo (4) fuEIH

9. Howard Gardner’s theory of multiple intelligence proposes that :
(1) Intelligence is primarily inherited.
(2) Intelligence can be measured accurately and predicated precisely.
(3) Intelligence can successfully predict academic success.

(4) Intelligences change over time.

Fae MER & agdfg fagid =1 y&mE § & :

(1) Ifs T& &9 9 e forrad § faerdt €1

2) Ffc I T2l T § AU ST Fhall © IR Hh €9 9 foAe fohan < wehel 2|
(3) FfGHT STHRIRHE AHeT Hl THAeS STIHA T Fehll © |

(4) dfs THT F WY <o
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10.

11.

Which of these statements would advocates of progressive education agree with ?

(1) Children are naturally “uncivilized” and socialization is necessary to make them moral human
beings.

(2) Children are born in a social, cultural, economic context and this background influences
their development.

(3)  Children are a distinct life-stage that hold importance because of ‘what they would become
as adults’ rather than ‘what they are as children’.

(4) Children are naturally ‘good” and society corrupts them.

wTfcreiter e < fewmadt 577 | fore A | wewa 2 2

(1) == T €9 9 ‘38’ 0 € 3R 3% AT Id M o T THTSHeRT STavas |

(2) F=d T I, Ak, e Hexf # 991 2 € 31 78 ToyfH 3o faeme =i gwifad sl B

(3) TETH Ueh T Sfed-=Xvl § o ‘o= o ®UH 9 T’ o9 ' A SRl o w9 H T AR
Heeel TGl € |

(4) o= TvIfosk ®9 Y ‘7=’ B § IR T 3% IR AT B

Assertion (A) : Creating an environment of fear and stress keeps students ‘on their’ toes and

facilitates meaningful learning.

Reason (R) : Learning is governed only by extrinsic factors.

Choose the correct option.

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(2)  (A) is true but (R) is false.

(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

ATTRIT (A) : 9T 3R TG T AAIERT ST BT ! To9d 3R TEH TR @l © IR diefeh g =l

Efua e B
T (R) : ST et aTedt SRehi gRT > 2l § |
e ferehed <+ |

(1) (A) 3R (R) ST =& T AAfh (A) T (R) Tt =1 Tl B
2) (A) T T AfHA (R) TTerd 71

(3)  (A) 3R (R) I Tt ¥ |

4) (A) 3R (R) I T T 2T (A) T (R) T AT HIl |
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12.  Which of the following is an example of a performance goal orientation ?

(1)
(2)
€)
(4)

A student studies hard to get a good grade and be better than others.
A student studies hard to learn as much as possible from the teacher.
A student studies hard to further her own growth.

A student studies hard to achieve a deep understanding of a topic.

=1 o @ HF 1 Yo @ ATIfa=T T T SeTR | ?

1)
(2)
€)
4)

T B T3] U T SR T § S5 B o fI gl Hedd il 8 |

T B ToeTeh 9 A 9 31fies drgd & fau wfsT s1eaam it 2
Teh B I T 1 3T @M & fA ht Ted Ll 2 |

T O fondl fom i el 9=t 7Iaa i o foT sfed e1eas &t |

13.  Which of the following is an example of assessment for student’s learning ?

1)
(2)
(3)

(4)

A quiz and brainstorming at the beginning of class to check for prior knowledge.
A standardized test used to compare students across the country.

A rubric given to students at the beginning of a project, outlining what they need to do to
achieve a certain grade.

A final exam that covers all the material learned throughout the term.

= o 9 s Tt | dien o fou steher s T Seeu § 2

1)
(2)
€)

(4)

e JM ht S % T el i gestd § T YRt iR faeaR-Her |
I R F BT I T H o FAY T AR T |

Teh URATSHT Tl YA | BTEI ol (A1 T Fioreh, I8 {@ithd id gU fh 3= T Mfiv=a I ara
T o Qs e =nfe

T Sifad adten foed ¥ v § Het 78 9aft gt i 2 g

14. Which of the following statement aptly describes the purpose of a diagnostic assessment ?

1)

2)
()
4)

To identify the attitude patterns of students and design a career guidance programme as per
their needs.

To provide feedback to the teacher about their teaching methods.
To identify the areas where students may need additional support or instruction.

To give students the opportunity to critically assess the work of their peers.

frafafad § @ FH-91 A AfE TThe & ILIT HT ST T AT T 2

1)

foranfefl & s1figfa ey =it vgam HTT IR TRt AR & TR Teh ST v

HRIHH TR HEAT |

forerent =01 3Top foreror fafedi & s # wfagfie 9o & |

37 &5 i e HA S (et s sifafed T a1 e i sTevashdr 8 gehdt ¥
Tt &l 3799 WeehHal o hH o THGEHHS STehe i ol STEER Y& & |
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15. Lev Vygotsky views cognitive development as :
(1) an individual activity
(2) a unified process
(3) effective adoption to the environment process

(4) a collaborative process

AR HHTcHe: faetd i forg &9 § <@d & ?

(1) U Afema fohan

(2) T T Ha

(3) TR hl GHIE €9 9 ST i Gfeha
(4) T HEANTcH Ffshl

16. Following Lev Vygotsky’s ideas, a teacher should :
(1) disseminate the knowledge to be memorized by the students.
(2) encourage students to compete with each other.
(8) practice reciprocal teaching with her students.

(4) discourage the use of cultural tools by students.

9 ARAIEhT < THgId I 91e Sd gU, Teh 1187 &l :

(1) fo=nfiai gra shee fore S aTel I 1 THR T =1feq |

(2) ToenfeR 1 TR SE % Wy gfaeadt o % fa diedifed e =fsu
(3) 3T fornfefai o |rer qREafish STeATa 1 el il =T |

(4) foenfofi gr1 wihide ITHTON & UM 1 gdlcdTied AT =1faT |

17.  Which of the following is an example of a question that promotes analytical thinking ?
(1)  Which countries were directly involved in the World War II ?
(2)  Which factors contributed to the outbreak of World War II ?
(3) Who was the leader of Germany during World War II ?
(4) In which year did World War Il end ?

=1 o Q9 W T T U 1 SR § S fIa=TcHsh G o Serdn <l § 2

(1) fedta fova g5 # =9 ¥ 39 Yo 9 § wive 92
2) fedia fova g5 & Hem # ford SRl &1 areH o ?
3) Teita fawa I5 & SR AT T a1 i o1 2

(4) fedta fova g3 fore o 9T gom o ?

P-IT (AN AR mm 7



18.

19.

Assertion (A) : 12-year Amana gets scared every time the teacher asks her to answer or solve the
maths problem on the blackboard because she fears that the teacher will scold
her and she would be embarrassed.

Reason (R) : When students feel unsafe and anxious their learning is adversely affected.
Choose the correct option.

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(2)  (A) is true but (R) is false.
(3) Both (A) and (R) are false.
4)

4) Both (A) and (R) are true and (R) is the correct explanation of (A).

AR (A) : 12 TS I A T IR S S © S TR 36 wiehaile X TG i FHE 61 ST
T I 7 FH F foAw Fedt § it 5§ X T T fafersm s@ i ok o wiftfer €t

HIT (R) : g B A SR e 7egy & § df 3Tt e W gfigd gve 92 g |
et foshed I |

(1) (A) 3R (R) S =& T AT (A) T (R) T =& T B

(2) (A) T2 § AfRA (R) Tod B

(3) (A) 3R (R) ST TeTd T

4) (A) 3R (R) I T T IR (A) = (R) TR =A@ HIAl |

Jean Piaget perceives to be . Lev-Vygotsky believes to be
(1) Egocentric speech, effective in self-regulation; private speech, a sign of cognitive immaturity
(2) Private speech, a sign of cognitive immaturity; egocentric speech, effective in self-regulation
(3)  Private speech, effective in self-regulation; egocentric speech, a sign of cognitive immaturity
(4) Egocentric speech, a sign of cognitive immaturity; private speech, effective in self-regulation
EIEREEIE =l T S| o ArEieEht Eal H

(1) AHRf=d A, @-fafataa o gurel; st a1k, ST STaRuderd sl Hond
(2) TSt arh, HAHHS STARUSEAT S Hehd; 3Hehl=d aeh, - fafafta § gwme

@) Tl =mh, ser-faftafad | gurell; stcqehf=d oTeh, HaTcHe STARUeedr Sl Hohd

(4) SATHR(ET AT, HAMICHS STIRT! 1 Hehd; Ts11 ae, @-fafTatha o gl

P-XT (AN nm 8 F



20. Assertion (A) : As compared to boys, girls have an innate tendency to be affected more by social

and cultural factors.

Reason (R) : Girls are genetically more sensitive and emotionally weaker than boys, making it

more likely for them to conform to societal expectations.

Choose the correct option.

(1)

()
(3)
(4)

Both (A) and (R) are true but (R) is not the correct explanation of (A).
(A) is true but (R) is false.

Both (A) and (R) are false.

Both (A) and (R) are true and (R) is the correct explanation of (A).

JAIRYT (A) :  TSHI HI JoN H ASiRAl | Arforn TR Fishfasw Rl ¥ Afuss gwifad g9 i

ST W Bt

1T (R) : ARl AT T ¥ TSH! i ol § 3Tfereh Gogasiel iR oS €9 ¥ HHSR

Bt €, FSTeeh SN 3kt WM STUETIS o ST{&Y B i AT ek 2 St ¢ |

Tl fashed I |

(A) 3T (R) ST Tt € @feh (A) o (R) Tt =ARen el o 7 |
(A) 9& ® Afeh (R) TTerd 7 |

(A) 3R (R) ST 7Terd 2 |

(A) 3R (R) ST T&t € IR (A) &1 (R) TET AR 6l T

21. Ten year old Kakuli is struggling with a difficult math problem. What can her teacher do to
enhance her problem-solving skills ?

(1)
()
)
4)

Tell her to skip the problem and move on to the next one
Encourage her to keep trying and offer scaffolding when needed
Give severe punishment so that it is not repeated in future

Give her the solution to the problem

TH 1A ! hIhell TG o Teh hic Tt 9 S5 W&l ¢ | Sh T YHIEM SIvTd 1 9gM & feTe 3ueht
Torfarent = o2 gahdt ©2

3 THET F BieA IR A Toh T TH & foIw g
I T @A o TTT 3 FiedTied hi TR e TS T e & &L
FS W FHI Gon ¢ drfep Jfees | T\ e 7 &

U THE T GHEE <

P-IT (AN AR mm 9 F



22.

23.

24.

An example of ‘class inclusion” :

Assertion (A) : Lokesh has trouble with classifying one concept (Delhi) as a subset of another
(India).

Reason (R) : Understanding how emotions affect memory and learning can lead to self-
regulated learning.

Choose the correct option.

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(2) (A) is true but (R) is false.

(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

"o HHTSY %hT Tk S

JATURAT (A) :  TIRY I Tk Hehoa (TSeeht) 1 TEN Hehed 1 (9RT) o IU-UHE o &9 H afidhd
FH H I A T

HIUT (R) : 78 gl T e e iR dies & 9 gefaa =l €, w-fafafrg dem
G R Hhel |

et fashed I |

(1) (A) 3R (R) I & € Al (A) T (R) & =T & L 7
2) (A) T2 § AfRA (R) Tod B

(3)  (A) 3R (R) S Terd

(4) (A) 3R (R) I F&I € 3R (A) T (R) HeEl AT T € |

In which of the following method teacher and student interchange their roles ?

(1) Receptive learning (2) Expository teaching

(3)  Reciprocal teaching (4) Conditioned learning

frefated # § fora fafyr § foeen o) fomnefl stoft yfiemet &1 fafm e €2
(1) W=IRIA ™ (2) TUHARHS STEATIA

(3) URHREh AT (4) orhfera st

The behaviours, interests, attitudes, skills and personality traits that a culture considers appropriate
for specific gender are referred to as and are

(1) Gender roles; genetically determined

(2) Gender identity; culturally defined

(3) Gender identity; genetically determined

(4) Gender roles; culturally defined

ZIaER, T, g, Five iR =fada e 9=t epfa fafime sex & fou suge ot ©, 3%
% ®q # " fran s € ik 7' =ed €|

(1) S faentd; sEfes w9 § fraifa

(2) SieX 9g9H; Hitpfas €9 § qRefia

®)

4)

SieX T8 e €9 9 Huiia
Siet YfaehTd; Wik €9 ¥ uRifia

P-XT (AN nm 10 F



25.

26.

27.

Assertion (A) : Each child finds opportunities to play, experiment and discover their world.
Reason (R) : Childhood is a universal construct.

Choose the correct option.

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(2) (A) is true but (R) is false.

(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

AR (A) : T =3 I G, TN HH IR To1 g il Wi A & 31y fgerd §1
T (R) : T Tk et fmio )

e faed T4 |

(1) (A) 3R (R) SF Tt € AR (A) T (R) T ==& =& el

2) (A) T2 § AfhA (R) Tod B |

(3)  (A) 3R (R) ST Tora |

4) (A) 3R (R) I T&I € 31X (A) T (R) HE A Ll < |

You are a teacher who wants to encourage your students to think critically and creatively. Which
of the following strategies is most likely to foster this type of thinking ?

(1) Providing students with open-ended questions to come up with their own solutions.

(2) Giving students multiple-choice tests to assess their knowledge.

(3)  Lecturing on the topic and providing students with detailed notes.

(4) Assigning a project in which students must memorize and present information on a topic.

379 T feren € Sl 3199 BE1 ol A=A 3 s ®9 9 9=F & fau diedifed e ==d §1
frafafaa § @ &9 df WHIfd 39 TR F1 f6aT S e <7 &1 gad s Gt €2

(1) Bl STh STI THH GeH & fau gol f 9t 999 9em w4 |

(2) BTH HI ITh T I SR HIA o [T Tgfoashed! &0 S |

() foma M =AEH <1 3R BE *I fawga ey UeH & |

(4) T uRErSHT Siger s sl 1 fedt fawa R SRt 1 a1e Wt 3R WK S |

Assertion (A) : In an inclusive classroom, all curriculum adaptations should be directed to lower
the educational standards for ‘Special children’.

Reason (R) : ‘Special children” do not have any potential for learning in mainstream classroom.

Choose the correct option.

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(2) (A) is true but (R) is false.

(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

AR (A) : T THEEN hel H, A It ST ded & Al AHH a1 fav a==i & fag
e 3 o o Fdfra foran s =few |

SHRT (R) : TR Sr=al " T GEAYRT St hell § HIEH i e H9EA T 8 |

e fashed T4 |

(1) (A) 3R (R) SF1 Tt € Afeh (A) T (R) T& ==& =& et

2) (A) T2 § AfhA (R) Tod B |

(3)  (A) 3R (R) ST Tora |

4) (A) 3R (R) I F&I € 31X (A) = (R) HE A Ll < |
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28.

29.

30.

Which of the following statements about Lawrence Kohlberg’s theory is correct ?
(1) Itis based on the study done through experimental methods.

(2) It presents conflicting situations to children.

(3) It takes into account effects of culture and gender on moral reasoning.

(4) It does not specify exact stages for progression of moral development in children.

AN Hrectert & fagia & ar # frefafed § 9 wF o1 weH w8 T2
(1) = R fafel gr fohe e sveeed oX emeniia 2 |
(2) I8 F=a 1 gfaErcTe feufl weqa e T |
®)
(4)

1

3) ¥ Afqe aoh W Geepfa R Siet & yuE 1 oA | T

4) I8 o=dl H§ Jfder foema o1 wofa & et srereesti o ffew 78 e §1

A teacher wants to enable meaningful and analytical learning in her class by providing opportunities
for students to connect their prior knowledge to new concepts. Which of the following teaching
strategies would be most effective ?

(1) Assign students to read the textbook chapter and answer questions at the end.

(2) Ask students to share their own experiences related to the new material and then connect
them to the topic.

(8) Providing students with a step-by-step guide on how to complete a task related to the new
material.

(4) Lecturing on new material and providing students with a list of key terms to memorize.

o Trfetent ST bl 37k Id 19 Bl 718 Hehou el § SIS & TR IS Hich 7T hell H Highs i o
foeremTceTess 9 &1 9er| o1 =9redl § | Fefafea § 9 a9 feon wHifa ged gy e ?

(1) foenfofii =t ureaqEaes & 1A &l U iR 3id H UwAi & I <7 & forw we |

(2) BE Y TE grElt § Hefod o W@ % AV Figi H & o e iR fe 5% foma | siren
®)

4)

3) B I TE AU F Geiferd e Rl W B qeh & aR B =0 =0 AiG iR e T |

4) S HHU TSN S SR BEI 6l G HH 6 €A@Yl Wkl H G TGH HA

Changes in emotion, self-perception and interpersonal relationships with families, peers and friends

are studied under domain of development.

(1) Cognitive (2) Linguistic (3) Psycho-social  (4) Physical

fawm % TR & T&d WIS, STe-gRon qo 9Rem, iferl iR Sl & 1Y IReie®
Haidi § afted™ 1 st f S )

(1) AR (2) e (@) wH-EESE (4)  Aifaw

P-XT (AN nm 12 F



IMPORTANT | Hgeaqyof

Candidates have to do questions 31 to 90 EITHER from Part - II (Mathematics and Science) OR from
Part - II1I (Social Studies / Social Science).
qafefar &t w97 31 | 90 IT a YT - 11 ( TOTT & (G717 ) a1 9T - 111 ( QrEifsier 37eq97 / Qs

faarT) @ & &

PART - Il / YT - 1l
MATHEMATICS AND SCIENCE / o1 9 fasm=

Direction : Answer the following questions by selecting the correct/most appropriate options.

A% : frefafad e & 3T &7 & [oq Qeg/aad Iugad fasweq AT/

31. The value of 31096 =+ (2704 +2) +0.6738 +0.63 +0.059 — 0.79 is equal to :
31096 + (2704 +2) +0.6738 + 0.63 + 0.059 — 0.79 T A TR ¥ :
(1) 23.5728 (2) 24.6728 (3) 24.5728 (4) 23.6728

32. Following data shows the number of wickets taken by a player in last 11 matches played by
him/her :

1,0,2,4,0,3,1,1,2,4,1

What is the difference between the mean and mode of the above data ?

f 3tiehs Ueh faeTTe! g SHe g1 Wl 7Y fUsat 11 F=i # forw u fafensl o6t g <9id €
1,0,2,4,0,3,1,1,2,4,1

T SRSl o H1EA R dgetsh T TR 1 7 ?

N 8 y 10 5 8 o 7
22
33. The distance covered (in metres) by a wheel of radius 25 cm in 350 rounds is (use = 7) :

ﬁFquScmmé@w%qgmasoawmﬁﬁaﬂaﬁﬂé@(ﬁzﬁﬁ)%(w=27—2wsq?ﬁvaﬁﬁq) :

(1) 550 (2) 825 (3) 1100 (4) 275
SPACE FOR ROUGH WORK / 7% &Td & feg swg
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34.

35.

36.

37.

The two corresponding angles formed by the intersection of two parallel lines by a transversal are
(3x—20°) and (5x —60°). Then, the value of (4x +30°) is :

fordt il g0 <1 wiaR Wansti o fdeeed | 51 @ 9 I (3x —20°) 3R (5x — 60°) ¥ 1 T8, (4x +30°)
FIAAT :
(1) 110° (2)  130° (3) 150° (4)  90°

For teaching addition of integers at the upper primary stage which of the following is least useful ?

(1)  use of lift (2)  use of number line

(3) use of chart paper (4) use of stairs

=9 M TR W YUTishi T SIS TeM & fore Frefafad § & 1 9o &7 <veE § 2
(1) fawe = 3T (2) HE @l SR

(3) = TR H IT (4) wfedl =1 3sw=Em

O is a point on line AB. Rays OC and OD are drawn on the same side of AB such that OC L OD,
ZAOC=x and ZBOD=3x. Then, ZBOD is equal to :

@ AB W feerd O T foig 81 AB % T &t iR & foeoi OC 3iROD 34 &R @it T € foF OC L OD ¥,
ZAOC=x 3R /BOD=3x ¥4, ZBOD 3K ¢ :

1° 1°
(1) 45 (2) 60 (3) 673 (4) 223

Which of the following statement is correct about assessment ?

(1) Summative Assessment helps to know to what extent the instructional objectives have been
achieved while teaching a concept.

(2) “Assessment for learning’ is a process with no scope of giving feedback.
(8) Formative Assessment is used after the course completion to assign the grades.
(4) Assessment as learning generates opportunities for self-assessment and peer assessment.

3o & fau frfafea 8 9 $F-91 Fo9 W& 82
(1) FFTICHR AThA I8 S H Heg i ¢ foh fohet sraremon & freror o SR fdenars seeai 1 fhm
TS T I Tohan T ¥

(2) ‘At % fT eeher’ T T gfhan § EH wfayfie yeM w1 1 g STeRR T |
(3) UK QU B % A IS A o I TS STehete T SUART e e 21
(4) AT % 9 H Yo, Wi R TEHH qoAihd oh STTER I L § |

SPACE FOR ROUGH WORK / 7% & & fag wig
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38.

39.

A sum of ¥ 8000 becomes X 9500 at 7.5% p.a. in x years at simple interest. What will be the
amount of the sum in same time at 20% p.a, if interest is compounded yearly ?

T 8000 ! ek W1 7.5% oMfteh <X H x 18 | FIERT =791 T T 9500 B STl & 1 SH 3T k1 20% anfiieh <X
T 3 € 99§ foman fagem g, afe o anfies S9ifsa ear € 2

(1) T 12144 2) T 12672 (3) T 13824 4) T 11616

Meenu wrote some numbers on the blackboard and arranged them in ascending order as

2 <7<9<12. She then multiplied each number by (— %j

Identify the correct statement regarding the above situation.

(1) Mean of the numbers will remain the same.

(2) Ascending order will now be changed to descending order.
(3) Number of terms in the ascending order will change.

(4) Ascending order of numbers will still remain the same.

o 7 TMIE R 9 T faeet 3] sied 0 | afeed s 39 TR fa@r2<7<9 <12 | f

3T YIS HEA (—%) q Ton = e
Sedaa qRftafa # fafafad sl § 9 9& ®F Je=au |

(1) G S ued g9E @ |

(2) TRIE W FEA H AL HH B S |
(3) & % H US| Hl HEA g S |
(4) Hemstl w1 S wH A o 7@ '

SPACE FOR ROUGH WORK / 7% &Td & el sirg
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40.

41.

42.

Which one of the following is the most appropriate feature of mathematics textbooks at elementary
level ?

(1
(2
(3
(4
YR TR T T i Teaq&dehl § fefatad § 9 wH-dt fowoar 9o S 8 2
(1) fowramEi # e192m8 & & fau aga 9R 99 99 g =1fen

(2) STEYURNE! ohl Sifeet ¥ TR hi AR Y&qd fohan S =nfeq

(3)  STIAUNUNS hl 3H § ST i AR TR foran S =nfey

(4) TEIH HI W AAfHE T2l 3R Tehilehl BT =T

)  Books must contain a lot of similar questions to practice
) Concepts should be presented from complex to simple

) Concepts should be presented from concrete to abstract
)

The language of the book must be highly precise and technical

One of the factors of 20pq? + 4pq + 45pr? — 60pqr — brp is :

20pq? + 4pq +45pr2 — 60pqr — 6rp & UHEE! H H TH oGS 1 T
(1) 2q-3r (2) 10p—15r+2

(3) 15p—-10r+2 (4) 2r—3q

Which one of the following is a teacher-centred method of teaching mathematics ?

(1) Lecture Method (2) Heuristic Method

(3)  Group Discussion Method (4) Problem solving Method
frefafed & 9 & & 7o feor @ T fees-onfsa fafa 872

(1) =reF fafy () w@a: uy (FRew) fafy
(3) ufe® ==l fafy (4) wFEn gEEE fafy

SPACE FOR ROUGH WORK / 7% & & fag wig
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43.

44.

45.

The cost price of an article is I 750. It is sold for X 608 by giving 24% discount on its marked price.
Had it been sold on its marked price, then what would have been the profit percent ?

ot ar%g 1 9 Hea T 750 1 38 38 SAfohd Hod W 24% T B IR T 608 H o= T | ARG 37 I% I
3O ifehd oI WX S ST, d fohaen @y wfaerd g g ?

1 2
(1) 6% (2) 55 % 3) 65 % 4) 5%
Cards bearing numbers 12, 13, 14, ..., 70, 71 (one number on one card) are kept in a box and then

a card is drawn from the box without looking into it. What is the probability that the card drawn
has the number which is not a prime ?

& 12, 13, 14, ..., 70, 71 el R fer@ o2 e fosst O T < Sl € (Teh hie W Teh &A1) aon fe 39
fesa § Q for1 31X 2@, Tk 1S THehTeAT ST © | SHR! R Wi ekl & o TapTel T h1€ W Ueh UHi 4 §,
I AT G ® ?

L, 1 ) 3 y B o L
= ® 3 G = @
Which of the following rational numbers lie between ;—0 and _T ?

ﬁmﬁ@aﬁ?—ﬁqﬁﬁaa@ﬁ;—gsﬁ?%ﬁsaﬁﬁﬁ%%?

) -2 -8 -3 n 2 223
(1) 37 57 4 (2) -8 3" 5
5y =2 -2 -3 o =20 2L
(3) -8 3’ 5 (4) 57 5

P-11

SPACE FOR ROUGH WORK / 7% &Td & el sirg
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46.

47.

48.

Which of the following numbers is written in the standard form ?
= & | - Hen qrew w9 7 fordt T 2
(1) 8.5x10-12 (2) 0.6x10%° (3) 83.7x107° (4) 45x103

A nine-digit number 565x9274y is divisible by number 88. Then, the value of (2x+3y) is :
T A-3Ahia W& 56519274y, T&1 88 § favm 1 9@, (2 +3y) & 9H ¥
(1) 25 (2 24 3 22 4) 26

Which of the following represents the most important capabilities of learners to be assessed in
mathematics ?

(a) Ability to use abstractions to perceive relationships

(b)  Ability to memorize all the formulae given in textbook

(c)  Ability to apply mathematical concepts to solve problems related to daily life situations

(d) Ability to score full marks in mathematics

Choose the correct option.

(1) (a) and (d) (2) (b), ()and (d) (3) (b)and(d) (4) (a) and ()

Fretferfiaa & ¥ % oW § i W e e % T et e ) Frefi w2

(a) HeH B TS % foTu STocar 1 SUHNT HIA I AT

(b) IR H fou Gt IE I AR FHH HI &

(c) fTeR St ot aRfeerfaal | Heifta Tmensti &1 g &3 & o T sTaemonsti s STy &
i AT

(d) TG § 9 3feh YT I R &EA

et fashed I |

1) @M@ @ O @ O @) @MW

SPACE FOR ROUGH WORK / 7% & & fag wig
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49.

50.

51.

52.

In a pentagon ABCDE, ZA=(2x+9°), £B=(2x+1°), £LC=(2x-1°), ZD=(2x+5°) and
ZE=(2x—4°). Then, value of (2x+10°) is :

fedt 99YS ABCDE ®; ZA=(2x+9°), ZB=(2x+1°), £ZC=(2x-1°), ZD=(2x +5°) 3T
ZE=(2x—4°) ¥17T9, (2x+10°) &I AF T :

1) 116° ) 118° 3) 124° 4) 114°

Many occupations such as accountancy, banking, shop-keeping, tailoring etc. requires mathematics
directly or indirectly. This is an explanation of value of Mathematics.

(1) Cultural (2) Utilitarian (3) Professional (4) Disciplinary

Tgd 9 e S T e (feme-fawae), sife, gamer, faem w1 wm senfe § goat a1 Wi &9
Y TG T STl Bl § | I8 0 A ! & B

(1) HiEhidh (2) SUATATETR! (3) HAEHIIHR CVBRELRIREY

Let A = 3x2—8x+11, B = —2x2+12x, C = —4x2+7 and D = x2—x—11.

If (A+B+C)—D = px?>+qx+r, then the value of (p+q+1) is :

A7 A = 3x2—8x+11, B = —222+12r, C = —4x2+7 3R D = x2—x—11 2|
ARG (A+B+C)—D = pa2+qx+r T, A (p+q+r) H AF T :

(1) 28 2) 30 3) 31 @) 27

For which of the following measurements, the construction of triangle ABC can be done ?

= ® | foa Al & forw, B[St ABC &1 W& 1 ot S dehall © 2

(1) AB = 8 cm, BC = 4 cm, ZBCA=90°, ZABC =60°

(2) ZACB = 120°, ZABC = 25°, AC = BC = 4cm

(3) AB = 5cm, BC = 6 cm, ZABC = 130°, ZBAC = 25°
4 AB=3cm BC=4cm AC =7 cm

SPACE FOR ROUGH WORK / 7% &Td & el sirg
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53.

54.

55.

56.

Which of the following is used to record students” problem solving ability, measurement ability
and experimentation ability ?

(1) Report Card (2)  Anecdotal Record
(3) Teacher Diary (4) Cumulative Record

frefafea o 9 forge Suam faenfofal § Taen-gmem it aradn, |99 1 A3, T30S Jradr 3Tfe
&1 fenre W & T fopan wman 8 2

(1) R+ (2) SIS e
(3) T s (4) Hft e

PQRS is a parallelogram in which PQ= (4x +1) cm, QR=26 cm, RS=25 cm and PS=(3y—1) cm.
Then, the value of (3x +2y) (in cm) is :

PQRS T THIER a4 &, iS58 PQ = (4x +1) cm, QR =26 cm, RS=25 cm R PS=(3y—1) cm ¥ | 79,
Gx+2y) FAA (ecm H) B :

1) 36 2) 38 3) 39 4) 35

The distance between the parallel sides AB and CD of a trapezium ABCD is 12 cm. If AB<CD,
CD=24 cm and AD=BC=13 cm, then area of the trapezium (in cm?) is :

el Tmeis ABCD &t 9k sl AB 3iR CD & &= i g 12 cm T 1 9f§ AB<CD, CD =24 cm @@l
AD=BC=13 cm &, d1 39 A« ol &% (cm?2H) 9 € :

1) 114 2) 247 (3) 228 (4) 1235

If x is the smallest number which is to be subtracted from 2605 to make it a perfect square, then the
value of (4x+7) is :

Ifg x 9% =g e &, f54 2605 § | TeM W 9 ol avf & St €, @ (4w +7) FHAA T :
1) 23 Q) 27 (3) 31 4) 11

SPACE FOR ROUGH WORK / 7% @&Td & {eTT STTg

P-XT (AN nm 20 F



57. Nitu is always confused in identifying the transformations. Her mathematics teacher helped her
by giving one simple word for each transformation namely : Reflection, Rotation, Translation and
Enlargement.

Which of the following represents the correct sequence of meaning of each transformation as
given above ?

(1) Flip, Turn, Slide and Bigger Figure

(2) Slide, Flip, Turn and Bigger Figure

(3) FHlip, Slide, Turn and Bigger Figure

(4) Turn, Slide, Flip and Bigger Figure

g TN UREdE (STIRERAYH) o TeaH S H 3ae H WAl § | SHH! T i e 3 36 @
e & AU Tk T 918 <o 39eh! Heg &1 Sl fof § : Ufiadq, gfdfers, M, Tommmaia 37X e |

SR feu u 2 afteds & 31ef i fefafed °§ 9 -9 9@ w9 ° g s g ?

(1) Hotedl, JAMI, fRge sik Jgr TR

(2) TREE, e, U SR dSl TR

(3) T, R, JAMT 3R Fel STHR

(4) IO, TRTe, Uered siR Jel SR

SPACE FOR ROUGH WORK / 7% &Td & el sirg
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58.

A solid cube of side 12 cm is cut into small solid cubes of side 4 cm each. What will be the relation
between the total surface area of the original cube and the new total surface area of the small
cubes so formed ?

(1)

4)

New total surface area will be twice the original total surface area.

1
New total surface area will be 3 of the original total surface area.

New total surface area will be thrice the original total surface area.

1
New total surface area will be > of the original total surface area.

12 cm ST 91T TS S ¥4 I SIS 3 A | h1el Sl 8, foFH & 9 i YT 4 cm €1 IR oA &
FA YO SRS AT I YR o 7T DI T o Pl TR &ABel o siid 91 Gl G 2

(1)

T el Iod ATl TRIHH FHel T &hel Sl AT Bl ST |
T F T8I &A%el YRR FoA T &R hl % Bl ST |
T T IO A% YRIME Fol T &A% T 1 2 ST |

wwq@qaﬁwuﬁﬂawwaﬁww%€fw|

SPACE FOR ROUGH WORK / 7% & & fag wig
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59. On the basis of the information given in the statement, which of the suggested course of action
logically follows ?

Statement : Anamika does conceptual error while solving problems on mensuration.
Course of Action :

(I)  Teacher gives a lot of hands-on and visual practice to Anamika.

(IT) Teacher provides the scope of discussion while giving open-ended questions.
Choose the correct option.

(1) Only course of action (II)

(2) Neither course of action (I) nor course of action (II)

(3) Both course of action (I) and (II)

(4) Only course of action (I)

FHoF B < TE IFHRI & YR W, i Gt GITE TS e difcheh €9 H ST Il & ?
HIT ;ST B T B TA A THA IR ATIRUMHSE e HIA € |
RIS

(1) forfarent srfhesT o1 sigd IR ARG IR qaTHs 1918 A & forg ot €1

(11) forferer gor X amel U9 <o ==l o STIER USH Sl

e fashed T |
(1) had HEER (I1)
(2) 7 wEEE (1) 3R 7 2 FHEa (1)
(3)  rRIeE (1) 3R (1) <A
(4)  hae T (1)
60. If x=k, is the solution of the equation :
e S S then what is the value of Mk+18 ?
7 3 ’ 11k-12
G x =k, HHIHLOT
x;4—1=5_Tx+x 1 & €, A ﬁiii 1 31 7 B 2
3 5 4 1
S - 2 3 ) @ 5

SPACE FOR ROUGH WORK / 7% &Td & el sirg

P-IT (AN AR mm 23 F



Direction : Answer the following questions by selecting the correct/most appropriate options.

f[Rsr:  frEfafad e & 3w &7 & 7T WEl, qad 3ugerd faeeq T

61. Which of the following statements is/ are true regarding the function of bile juice in human digestive

system ?

(A) It makes the partly digested food coming from stomach alkaline.

(B) It helps in digestion of fats.

(1) (A) is false and (B) is true (2) Both (A) and (B) are true

(3) Both (A) and (B) are false (4) (A)is true and (B) is false

A qreeha | i W & & & dey § frefafea § 9§ & 9/9 ue 926 8/8 ?
(A) I TR | A gU TH T4 F T2 IS 1 T 5 <l 7 |

(B) & 9T % UM H eIl T |
(1) (A) T § qe (B) WY § (2) (A) 3R (B) 3 W §
(3) (A) 3R (B) I TTerd § (4) (A) W& B 901 (B) ToId ®
62. Which of the following represents correct matching set in the context of aquatic plants ?
Adaptation Purpose
(a) Large circular leaves (i)  helpful in protecting against decay
(b) Waxy coating (i) helpful in offering resistance to water currents

(c) Stems have large tunnels  (iii) helpful in providing buoyancy

and holes
(d) Ribbon like leaves (iv) helpful in staying afloat
1) (@) - (i), (b) - (i), (c) - (), (d) - (iv)
(2) (@) - (i), (b) - (iv), () - (i), (d) - ()
() (@) - (i), (b) - (@), () - (iv), (d) - (i)
4)  (a) - (iii), (b) - (v), (c) - (i), (d) - ()
frefafea & 9 [ o Siefta aedl (del) & G § W gHe 9= o M & g ?
S Sk ELAR]
(a) oed I ol (i) & 9 g ot §
(b)  HrHt e (i) Tt ureH ¥ yiade (1) FEd Tl ©
() T (Tsdl) H g8q (ii) SR GSH BT §
gl i feg B €
(d) W (ReA) 5§ o (iv) Toran () = H Her At ©
1) (@) - (i), (b) - (i), (c) - (), (d) - (iv)
2) (@) - (i), (b) - (iv), () - (i), (d) - ()
() (@) - (i), (b) - (@), () - (iv), (d) - (i)
4)  (a) - (iid), (b) - (iv), (c) - (i), (d) - ()

P-XT (AN nm 24



63. Assertion (A) : Nichrome is used as a heating element in devices like electric toaster and electric

geyser.
Reason (R) : Nichrome has high melting point and low resistivity.
(1) Both (A) and (R) are true but (R) is not correct explanation for (A)
(2)  (A) is true and (R) is false
(3) Both (A) and (R) are false
(4) Both (A) and (R) are true and (R) is correct explanation for (A)
AR (A) : TR o1 WA faga-2ret SR forega sk Si9 930 § A" o €9 H 3 ¢ |
& (R) : opT o1 3= T SR I gfadiereRan gt €1
(1) (A) 3R (R) A W& § T (R), (A) T T AR T 2 |

(A) &l T 1 (R) TTeTd T
(A) 3R (R) I T € |
(A) 3R (R) SHi TE € 901 (R), (A) T T ==

64. On the basis of the following information identify the substances which give flame on burning :

Substance State Vapourises on burning
A Solid No
B Liquid Yes
C Solid Yes
D Liquid No
(1) Aand B (2) BandC 3 CandD (4) Aand D
frefafad gaa1 & SR W 37 9l & Tga SIS S Se W SaTe o | ¢
e sTae ST IR AT S §
A 3 EE
B 7 (TRA) &
C 3 &
D =9 (T) T
(1) A3RB 2) B3RC (3) CS3RD 4) AIRD
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65.

66.

67.

(A) hormone regulater Carbohydrate, protein and fat metabolism in our body. It is secreted

by (B gland and  (©) in our diet impacts the functioning of this gland.

(A), (B), (C) respectively are :
(1) Adrenaline, Adrenal, Salts (2) Thyroxine, Thyroid, Iodine
(3) Growth hormone, Pitutary, Proteins  (4) Insulin, Pancreas, Sugar

(A)  THHE TR RR ¥ wEERSe, WeH a9 a9 3uv=d & fEba s eiae (B) U gW
Hfd e e d AR R A (C) 3§ Ul & wrHehrs o1 guifad i |
(A), (B), (C) shusI: ¥ :
(1) Ufsdem, Tfeaa (Afugess), dau (2) URfREH, AEdss, TEeH
(3) gfgHt gHH, 9, UeH (4) zgfeH, THRE, T

The following activity is done in the class VII :

Students are given four iron bars out of which two are bar magnets. They are asked to identify the
bar magnets. Which of the following process skills can be promoted through this activity ?

(1) Observation, Classification, Inferring

(2) Observation, Classification, Communication, Measurement

(3)  Observation, Estimation, Experimentation, Controlling variables.
(4) Observation, Formulating hypothesis, Measuring

e VII § f=fafea nfafafa = 1€ -

forenfafa =0l wR oig < fau T 98 9 < < gaw § 1 3% < g9 &t TeuH & & o e e 3|
Tifdfafe & weaq § fefafed § 9@ s @ gfsren SRl o deafed fwan s g 2

(1) & (3acieR ), arfienor, frepd ferrer

(2) &I (SFACAIRA ), TR0, HYTOT (H=ROT), A

(3) &I (TR, STIAM, TAN, =X & Faf=a s
(4)

TeTuT (TSR ), YReedT ST, JT9T

Which of the following have the most scope for promoting Art integrated learning in Science ?
(1) Projects, Portfolios

(2) Anecdotal records, Journal writing

(38) Journal writing, Field trips

(4) Portfolios, Anecdotal records

o o el Thihd TR I agra oF Hi urae f= ¥ 9 ford | g stfv €2

(1) yrEsHE (9fEssT), wewiferE g

2) SURHFHS Toidl, SHA o gl

)
(3) S TG, &5 Y9I g
(4)

4) AR, SURSAMHS JoiE! gRI
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68.

69.

70.

Which of the following should not be the purpose of open book assessment in Science ?
(1) To gauge conceptual understanding of learners

(2) To score more marks in tests

(3) To give opportunity to explore the book

(4) To reduce the fear of assessment in learners

frfafea # @ =1 o1 fagm § Gelt J&aw el ol 323 7Tal a1 =Tfey ?
(1) SIFTHRATS 1 STAUROMCHE THS I TG

(2) wheEne | sifen sid @M
(3) TK% & AT o AR YSH HE
(4) SIferTHRAl] § 3TTehel™ o 9 Bl HH R

Which of the following statements are true ?
) Crystallisation is a chemical change.
)  Photosynthesis is a chemical change.
C) Ripening of fruit is a physical change.
D) Formation of curd from milk is a chemical change.
1) (B) and (D) (2) (B)and (C) 3) (©) and (D) (4) (A) and (B)
frfafed & § $H-8 FoR w9 € 2
(A) Forea (fheeciisrn) Tk TemEfe afedd ¢
(B)  UHTI-HYTHU Tk THRIfH TR 2 |
(C) el I U Tk ifaes aRadd |
(
(

(A
(B
(
(
(

~

D) 39 9 & o1 T qEEeh qied § |
) ®EO) @ IO G QIMD (@) (A)IRE)

Children of all age groups have various ideas which may be different from science concepts. Which
of the following statements are true regarding these ideas ?

(A) These ideas are usually stable

(B) They are formed due to observable phenomenon

(C) They tend to follow similar developmental pattern

(D) They are easy to modify

(E) They are often domain specific

(1) (8),(Q), (D) 2 (A), B) ©, D)
(3 (A) (B, ©) E 4) (A), (B), (©

uft o1 ot o o= k1 fafee arond @it € sifer faam eraumoned @ fus € gehdt € 1 frefafea & 9 ¢
YRonetl & Geier W i ¥ heA W ¥ ?

(A) A gROTT G feer 2t ¥

(B) 3 Uferq (STUIer) ufitereieii & HRor ot € |

(C) 3 FuH foshrETeTes Yfa&q o1 9re il § |

(D) 3= Wad ¥ ufafda fhan s gehar g1

(E) o 9 gE-&3 () fafem St € |

1) (B), (©), (D) 2) (&), (B), (©), (D)
©G)  (A), (B), (©), (E) 4) (&), (B), ©
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71.

72.

73.

Assertion (A) : Arteries have thick and elastic walls as compared to veins.
Reason (R) : The pressure of blood flow in arteries is low as compared to veins.
(1) Both (A) and (R) are true but (R) is not correct explanation for (A).

(2) (A) is true and (R) is false.

(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is correct explanation for (A).

afeRem (A): et =t qorm o mfE ) we iR gearey fufaat g ¥

@ (R) : forrel =t gor |yt | T gaTe 1 <@ % (1) drn
(1) (A) 3R (R) S & & A (R), (A) F Tl =M T ¢

2) (A) T T qA (R) T B |

(3)  (A) 3 (R) S TTefd €1

4) (A) 3R (R) I T € 71 (R), (A) T T AR 7 |

S1 - Self pollination can take place only in bisexual flowers.

S2 - Cross pollination can take place only in Unisexual flowers.

(1) Both S1 and S2 are false (2) Slis true and S2 is false
(3) Slis false and S2 is true (4) Both S1 and S2 are true

S1 - TRETY hae fgfart gl (Bell) H 8 Jehel 8 |
S2 - TR-TRNTUN Shael kit qodi (Fedl) H 2 Hehell © |
(1) S1 3R S2 g TTera § (2) S1 9 T oM S2 7o B
(3) S1 7 T A S2 W ® (4) S1 3R S2 I Wt §

Which of the following statements is correct ?

S1: The normal temperature of the human body is 37°C.

S2: Heat flows from a body at a higher temperature to a body at lower temperature.
(1) Both S1 and S2 are inferences

(2) Sl is observation and S2 is inference

(3) Sl is inference and S2 is observation

(4) Both S1 and S2 are observation

frefafed o 9 -1 SoF §& ® 2
S1: HMEd YRR 1 9HHT a9 37°C © )
S2: W1 I AIYHN el IR § 11 q9|M ofel IR &t AR gefed el 21

(1) S1 3R S2 THi STTHM

(2) Sl STaERA (J&T) § T S2 STAE T |
(3) Sl 3TIHM T e S2 3Taairehd (Ya&rvr) ¥
(4) S1 3R S2 3MT sraerRa (Yaron) ¥
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74.

75.

76.

77.

The density of medium A is more than medium B but less than medium C. In which medium does
the sound travels fastest ?

(1) B (2) C

(8) Can't be inferred from this information 4 A

T A 1 S B % T § Ik § foheg w1eaw C & o 9 %1 3| fop wremm # eaf wed o i

A ?

1) B 2 C

() 39 a9 frehy T2 fehret S e 4) A

While ice melts at 0°C, its temperature :

(1) decreases (2) remains same
(3) first decreases and then remains same (4) increases

& & (few) 0°C W faererd & @1 SHert e :

(1) =ea? 2) THM TR
(3) T el § IR R oM e § (4) FEa@T

Which of the following strategies would support inquiry oriented science teaching ?
(1) Demonstrating the loss in weight of an object when immersed in water

(2) Engaging students in floating and sinking activities

(38) Explaining the difference between real and apparent weight

(4) Define and explain Archimede’s principle

frafafeaa & @ oF 9 Wrfa S-S T e s qae= s ?
(1) & # gaH W fhE a%g & YR =24 1 YeRid we

(2) foenfoRli & A wd gam | Heifya wfafafet # wferw () @
(3) i TE AR YR o o o 9 FHEI

(4) TSl faesia w1 aReIfta T e e

Read the following statements in the context of Laws and theories in Science :
S1: Laws are generalisation statement whereas theories are explanations.
S2: Laws are very old and theories are contemporary.

S3 : Laws can’t be changed whereas theories are subject to change.

S1 and S2 are true whereas S3 is false

S1 and S3 are true whereas S2 is false

S3 is true whereas S1 and S2 are false

S1 is true; S2 and S3 are false

foam  frami wa faecidl < ded o f=fafad el @ afen

S1: g gme=iietor seF € Sefe faeia =med g1

52 ;. 79w 9gd A € SR faegia Tmehrei= €|

S3: T et el S Wehd € Staifeh faegia werda & amefiA ¥

1
2
3
4

o~~~ o~
~— — N N

(1) S1 3R S2 WEl € Safer S3 7o ©
(2) S1 3R S3 Ee g Safeh S2 e ©
(3) S3 Tl & etk S1 3R S2 Terd &
(4) S1TET; S2 3R S3 e §
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78.

79.

80.

When a ray of light enters from medium A to medium B, its speed decreases and on further entering
into medium C, its speed increases.

Which of the following conclusions can be drawn from this ?

(1) Refractive index of A is less than B but equal to C

(2) Refractive index of A and C are less than B

(3)  Refractive index of A, B, C cannot be compared from above information
(4) Refractive index of A is more than B and C

STe YehTeT T ToRTUT WTEAE A € TIEE B H YA Il © a9 S9! 91 () Hedt § IR A memm C |
A A W IHH! =1 () Tt T

99 fAfated § 9 & A fewd fHermen S dehdt § 2

(1) A TecHi® BY HH W C & T9H &

(2) AR C%F 9ecHi® BH %7 §

(3) A, B, Ch 3TUaIeh i oIl SURIDb o o TER T G i ST Fehell &
(4) A IS B R C 9 feren §

(A)  is a technique of vegetative propagation in which a part of the stem or a young branch

of a plant is pulled and buried in moist soil, such that the branch is still attached to the Parent

Plant. After some time, roots develop in the buried part and it grows into a new plant. (B)
is an example of plant usually grown through this technique.

(A) and (B) respectively are :

(1) Grafting, Rose (2) Budding, Hydra

(3) Layering, Jasmine (4) Cutting, Potato

(A)  Fifae gaEa st Tk qfafyr (qeis) B, S99 T (W) & T 9T 3teen aed (We) i ago

I 1 i Y AR Gal § 36 YR (M) Ta e S € o 9 vman 319 seh 91ed (W) 9 i ot
S W FS THY YT, TS T A H 57 faehfa &1 St § den 78 sk T ued (d)) § faerfad g S

g1 (B)  wwra: 5@ gfafy (dehieh) ok HIEAH 9 ST URY (W) 1 SR ¢ |

(A) IR (B) HHI: T

(1) o, e (2) P, B

(3) WeH, =Hel (4) ohaH, 3]

The buoyant force on an object immersed in liquid acts in :

(1) Downward direction (2) All direction

(3) Parallel to liquid surface (4) Upward direction
73 | g (Fofssa) fore W Scete s & & ¢

(1) AgmEt fem # (2) @+t fewmet §

(3) A HAg ¥ FHIM (4) @ foen o
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81.

82.

83.

Assertion (A) : Achievement in STEM related courses is influenced by gender.
Reason (R) : Problem solving strategies used by boys and girls are different.
(1) Both (A) and (R) are true but (R) is not correct explanation of (A).

(2) (A) is true and (R) is false.

(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is correct explanation of (A).

IfUeRed (A) . STEM (RH) Faieht ursashdl # suarfey fan(Siex) grn wenfo aidt § 1
qeh (R) : TS TS TSRl gRI WA i T THEAT THIMM I0HTGET 191 Bl & |
1) (A) 3R (R) I 5 § WA (R), (A) T T AR 7T §

2) (A) §& & TA (R) Te@ §

3) (A) 3R (R) SH Tod €

(4) (A) 3R (R) IH @&t & q9 (R), (A) T T 020 ©

Which of the following statements is/are true regarding nature of science ?
(A) Scientific ideas are not affected by cultural context.

(B) There is no single scientific method.

(1) (A) is true and (B) is false (2) (A) is false and (B) is true

(3) Both (A) and (B) are false (4) Both (A) and (B) are true
Fretferfd & ¥ 0 T/ o T T F AR w2

(A) e foar wienfaes ded grr wenfaa =& €1

(B) hIE Uhel A=k fafy (ugfa) =& §)
(1) (A) 92 g 3R (B) Ted © (2) (A) e § 3R (B) TRl ®
3) (A) 3R (B) < o € 4) (A) R (B) I W& €

Which of the following statements are true in the context of respiration in whales and
dolphins ?

(A) They cannot use dissolved Oxygen.

(B) They have gills.

(C) They have large nostrils.

(D) They often come up to the water surface to breathe.

1 @A) © O @ B O 0O ©¢ @A) B O @) &) @) ©
frfafed § € & § woF &a iR Sifed | o9 & Hed § w81 € 2

A) 3 foefie AfeRdisH 1 ST & A Hehell € |

B) % U e (Fim) ¥ )

(
(
(C) 3T U Jed TR B ¥ |
(
(

D) o Y&: A-Y8 W Y9 o % fag ot €1
H A O Mm @ B0 0O 6 A.®B.O @ (@A) 06O
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84. (A)

(B)

Sunita takes 0.5 g of Sodium Carbonate in a test-tube and adds 5 ml of Dilute Hydrochloric
acid.

She passes the gas produced in the above reaction through Lime water.

Which of the following represents the chemical reactions taking place in (A) and (B) ?

(1)

(B)

(B) - Ca(OH), + CO, — CaCO, + H,0

(A) - NaHCO, + HCI — NaCl + H,0 + CO,

(B) - Ca(OH), + CO, — CaCO, + H,0

(A) - NaHCO, + HCI — NaCl + H,0 + CO,

(A) - Na,CO, + 2HCI — 2NaCl + H,0 + CO,

G T@-elt (T=-TgA) H 0.5 UM Hifead Fwaie ol & i 3aH 5 el a3 s o1
STt B |

T IWIH AR I 3= 79 &l 57 & U 6 AT H ISR ¥

frefafed 5 9 &1 (A) &R (B) # & W vemfe sifufsmanst 1 fefaa s g2

A) - Na,CO, + 2HCl — 2NaCl + H,0 + CO,
B) - Ca(OH), + CO, — CaCO; + H,0

A) - NaHCO, + HCl — NaCl + H,0 + CO,
B) - Ca(OH), + CO, — CaCO; + H,0

A) - NaHCO, + HCl — NaCl + H,O + CO,
B) - CaCO, + H,0 + CO, — Ca(HCO,),

A) - Na,CO; + 2HCl — 2NaCl + H,0 + CO,

(
(
(
(
(
(
(
(B) - CaCO, + H,0 + CO, — Ca(HCO,),

85. Which of the following statements are not true regarding compounds ?

(A)
(B)
©
(D)
(

1)

o)

Compounds show the properties of constituent substances.
Only elements can react to form compounds.
The composition of each compound is always fixed.

Compounds can be separated by physical and chemical methods.

B, ©) O 2 @A) B O G @A) © DO @ @A) ®B)©

frmfafied § 9 SF 9 wa Afier & Gay o Te 7@l 8 2

(A)
(B)
©)
(D)
(1)

AfiTeh Tereeh et o o7 i <9I § |

Fad ded & AT I o fau eifufsren o geRd ¥ |

Jdieh AMfiTeh o1 GaeH ged feer (fafvea) 2an §1

ifitent =1 i wd Tt fafee gr € gusw foman s wehar 1

(B), (©), (D) (2 (A), (B), (D) @) (A), (©), (D) 4) (A), (B), ©
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86.

87.

88.

P-IT (AN AR mm

Which of the following statements is true ?

(1) Soil with low water holding capacity has good aeration and low percolation rate.

(2)  Soil with low water holding capacity has poor aeration and low percolation rate.

(3)  Soil with low water holding capacity has good aeration and high percolation rate.

(4) Soil with low water holding capacity has poor aeration and high percolation rate.
frafafea § § S @ %oF w8 82
(1) T ST uRes &7t el GeT 1 S99 1 eral § aen Fe Sfa. & <% 2t €

2

4

2) =1 STo-uReh &7 STelt GaT 1 FHSIR ST el § adt Fe Sfd: e X Bt ¥
(3) T o~ uRes &7l el Gt kT S99 ST ol § AT S99 Sid: ga X el § |
(4) T STo-URes &7l el TaT T HHSIR 1A el § a1 3o A He0 < At §

Which of the following questions is a divergent question ?

(1) What if there was no gravity on the earth ?

(2) How does gravity vary with the altitude ?

(3)  What would happen to gravity if the size of earth is reduced to half ?
(4) Why does a ball thrown up comes down ?

1 & | 3 | T e €2

(1) 1 2T TR Yoot W HTg Tocd (Teearhyv) T g ?

2) TR & WY T (TEAHU) TEe |6 ?

(3) TR Yeal Tl SRR H 3T Y A1 ST 1 ocd ([E@TRyvT) ¥ goTfad 2T ?
(@) TR A G ) T e A e 32

Complete the following table :

Atomic number

Mass number

No. of electrons

No. of protons

No. of neutrons

9 A B C 10
D 24 E 12 F

A, B, C, D, E, F respectively are :

(1) 19,99 12,12, 12 (2) 9,10,9, 24,12, 12

3) 9,9 10, 24, 12,12 (4) 19,10,9, 12,12, 12

foreferfiad TRON 1 U T

YIHTUT €T THUM TEAT | TGS ohi G6&AT | WEH &l gear | =S ol aear

9 A B C 10
D 24 E 12 F

A,B,C, D, E, FHI: © :
(1) 19,99, 12,12, 12
(3) 9,9 10, 24,12, 12

2) 9,10,9, 24,12, 12
(4) 19,10, 9,12, 12, 12
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89. Assertion (A) : Convex mirrors are used as rearview-mirrors in vehicles.
Reason (R1):  They form erect and enlarged image.
Reason (R2):  They have wider field of view.
(1) (A) is true and only (R1) is correct explanation for (A).
(2) (A) is true and only (R2) is correct explanation for (A).
(3)  (A) is true but neither (R1) nor (R2) are correct explanation for (A).

(4)  (A) is true and both (R1) and (R2) are correct explanations for (A).

Afrered (A): SToHE (3TA) UV T 3TN e § qvEeeH-guun (fereg-fa) & &9 8 g 2|
e (R1) : 3 SeEviy Td faafida gfafars s €|

T (R2) : SR AT GTUATS Bl © |

(1) (A) T& & 91 Hhaa (R1) & (A) HT & A

(2) (A) T T T FHIA (R2) & (A) i T AT ¥ |

B) (A) T ® T (R1) 3R (R2) SHI & (A) = TEl =t e 2|

4) (A) ¥ ® a9 (R1) 3R (R2) I (A) & fore w2 =med €

90. Which of the following statements is/are true regarding relative reactivity of metals ?
(A) Zinc is more reactive than Iron but less reactive than Aluminium.
(B) Sodium is more reactive than Potassium and Calcium.
(C©) Aluminium is more reactive than Magnesium.
(1)  Only (A) (2)  (B) and (C) (3)  Only (© (4)  (A) and (B)
et ot stmaferer erfufsrarsiictar & Heiw # frfafead § & &F @1/3 FuF 9@ /8?2
(A) 5% (S1), <ie @ eife sifufsramia § wg Yegfaftem @ %0 sfufwamia 2
(B) Uifeaw, wefirm oIk Hicaam q sifu sifuframia 7

(C) Ugfufrm, fifrem § sifues sfufsramia 2

(1) e (A) (2) (B) 3 (C) (3) = (C) (4) (A) R (B)
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IMPORTANT | Hgeaqof :

Candidates have to do questions 31 to 90 EITHER from Part - II (Mathematics and Science) OR from
Part - 1II (Social Studies / Social Science).

witenfsfat @t 9T 31 @90 AT at WTT - 11 ( T & G777 ) AT 9T - 111 ( §TETfSTeR 379/ |THTfoTeh
faFr) & #3731

PART - Il / ¥ - 1
SOCIAL STUDIES / SOCIAL SCIENCE - A& g+ / Arifore fasma

Direction : Answer the following questions by selecting the correct/imost appropriate options.
Fder : reAeTiaa 5ol @& S o4 % [o7q Wel, Head Suger fashed Ia :

31. Match the following and choose the appropriate option.

A B
(a) Grihapatis (i) Landless Labourers
(b)  Shrenis (i) Independent farmers
(c) Adimai (iii) Coastal Settlement
(d) Arikamedu (iv) Craft persons
1) (@) - (), (b) - (i), (c) - (iv), (d) - (iii)
(2)  (a) - (iii), (b) - (iv), (c) - (i), (d) - (i)
(3) (@) - (i), (b) - (iv), (0) - (), (d) - (iii)
4) (@) - (iv), (b) - (1), (c) - (iii), (d) - (ii)
frfatea o1 faem Sty Jon S9ge fawed 4 ¢
A B
(a) TR (@)  fFEE mee
(b) & (i) T FIF
() AfcHs (iii) T fHam@
d) Ifwmg (iv) ToreTesr
1) (@) - (i), (b) - (i), (c) - (iv), (d) - (iii)
(2)  (a) - (iid), (b) - (iv), (c) - (i), (d) - ()
() (a)- (i), (b) - (iv), (c) - (1), (d) - (iii)
4) (@) - (i), (b) - (), (0) - (iii), (d) - (ii)
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32.

33.

34.

Which of the following is the correct sequence of rock cycle ?

1 Igneous Rock, Metamorphic Rock, Sedimentary Rock

3

(1)

(2) Magma, Metamorphic Rock, Sedimentary Rock
(38) Igneous Rock, Magma, Metamorphic Rock

(4)

4) Sedimentary Rock, Metamorphic Rock, Magma
frefafea # @ 9 = &1 9 w9 w0 7?2

(1) T 3, HEdRd Id, TaamR; d

(2) HHI, HEART I, TIEE! A

() o 3w, HH, SRR e

(4) STIEEl I, HrEdaRa e, H

Maps can be best used for

1) Elaborating on the most important events in history

3

(1)

(2) Studying lives of people living in different times in a logical sequence
(3) Marking places where people have lived at different points in history
4)

4) Arranging sequence of events in history

e 1 T8 359 = ° 9 forg faw & wean €2

(1) iR ¥ g8 S0 w2 il faeqd F:3H 'q

(2) 3T FHI T @ a1l AR oh STer sl GehdiTd dRich § Te &g
(3) iR T STe- 37T HE H T 91l |l o Tl ohl fafed i 'q
(4) sfaer | =l &l HHeg F T

Who among the following worked with leather workers in Central India and also started Satnami
Movement ?

(1) Ghasidas (2) Haridas Thakur (3) U.B. Phadke (4) Jyotirao Phule

frefafed § § fore A8 wRa H§ 99 1 hH T aTcll o 91 hH fohal qen Sl STicier i JesTd
off &t ?

(1) =rHE™ (2) IS™ 3EL (@) I weh (4) SAfaUe gl
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35.

36.

Consider the following statements about grasslands and choose the correct option.

(A) Climate plays an important role in the formation of grasslands.

(B) Annual rainfall is moderate in Prairies while velds could face drought in winter months.

(C) The vegetation cover is sparse in Velds.

(D) Velds lie in the Northern Hemisphere while Prairies in the Southern Hemisphere.
Options :

(1) Only (B), (C) and (D) are correct.

(2) Only (A), (C) and (D) are correct.

(3) Al (A), (B), (

(4) Only (A),
o & Herl & o) § fou 7u = e W famr sifse qon wet fashed o = i)

B), (C) and (D) are correct.

(B) and (C) are correct.

(A) = % Tl & o § e T Aeerul fte fuwd g1

(B) TG H afifer ot wemm W R BNl § Selfoh oegd § Wicdl & HRH H @1 S Wehdll |
(C) deed H aedfa STeRo fora 7|

(D) dosd I Tl o 9 ST § Seifeh Jois] gfaron Merg o |

ferehe

(1) %ad (B), (C) @ (D) &t 1

(2) HaA (A), (C) T (D) W T

(3) (A), (B) (C) @ (D) wﬂ T €

(4) I (A), (B) T2 (C) T 1

Which one of the following is incorrect ?

(1) The Vernacular Press Act was passed in 1880, to support the Government.

(2) In 1883, there was a furore over the attempt by the Government to introduce the Ilbert Bill.

(3) The dissatisfaction with British rule intensified in 1870s and 1880s.

(4) The Arms Act was passed in 1878, disallowing Indians from possessing arms.
frfafea § & &9 @ w2 T2 82
LR 1 T L o T 1880 T IARITR U6 T IR foham 72 o |

(1)
(2) 1883 H ThHR A Teae foiel AN A okl GAT fohar fST9 <ieRt hTeht 9T g3 |
6))
(4)

3) 1870 3R 1880 % ¥kl H fafest e & ufa st IR ST T8q g |

4
RIRIN
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37. Consider the following statements (A) and (R) and choose the correct option.
(A) : The Prairies are also known as the ‘Granaries of the world’.

(R) : Scientific methods of cultivation and use of tractors, harvesters and combines has made
South Africa a surplus food producer.

Options :

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(2) (A) is true but (R) is false

(3) Both (A) and (R) are false

(4) Both (A) and (R) are true and (R) is the correct explanation of (A)

frefafed sweHl (A) a1 (R) W fa=ar sifse qen @&t foeshe &1 =74 i

(A) : TSl g o o Wer' % ' H off S ST ¥

(R) : Bt 35 S TR iR S 9 St T 5 S 3 2l S ) S w e 3
o1 fea 2 |

faere :

(1) = (A) A (R) § E, g (R), (A) T T2 =0 76 2|

(2) (A) T ¥ T (R) TTord &1

®)

4)

ST (A) 9T (R) TTeTd & |
ST (A) A1 (R) T2 E, a1 (R), (A) T T =00 T

38. Consider the following statements on non-Brahman movement and choose the valid option :
(a) The movement came from non-Brahman castes that had acquired access to education.
(b) The movement argued that the Aryans were the indigenous people.

(c) The movement came from non-Brahman castes with wealth and influence.

Options :
(1) Only (b) and (c) are valid. (2)  Only (c) is valid.
(3)  Only (b) is valid. (4) Only (a) and (c) are valid.

TR-smeror stidiem R fr=fafeag weml w faar Fifvy iR du fawes g .
a) I TSI T-STeTor Sfaal & o7 forei foeq qe ug= gt R ot off |
)

(

(b) e = 7 T o o &r ga & 9

(c) TR 37 TR-SMRT0T il | o7 5ok 919 o9 TS 9y o1l
faeey :

(1) ad (b) 3R () 9 T (2) HAA (c) A9 T

(3) A (b) Y T (4) HAA (a) 3R () A¥ T
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39.

40.

41.

refers to a situation where a person does not have resources and opportunities that are
available to other persons.

(1) Diversification (2) Inequality (38) Dispossession (4) Hierarchy

we fearfa w1 wed St € ST forelt e & o S HenHA SiR TR TE A S ot sAfwE W
St |
(1) Tafatferzo (2) STEEE (3) SewEd (4)  GroTfTRT

The most important factor that influences the distribution of temperature on earth is :
(1) Seasons

(2) Asphalt of roads

(3) Crowded high rise buildings

(4) Insolation or Incoming Solar Radiation

gealt | S AMIHH % foawr sl gaifad Tt €, 98 WUl R ©

&

(1) *

(2) SATRIE 9 o ek

(3) e e 3 wam

(4) STAUA Aol G 9 A el fashio

Which of the following statements are true about the development of cotton industries in the late
18t and early 19t century colonised India ?

(@) Indian textile industry had to compete with British textiles in the European and American
markets.

(b)  British market was now available for Indian textiles.
(c) Exporting textile goods to England became increasingly difficult.
(d) Bengal weavers were worst hit as English and European companies stopped buying Indian

textile.
Options :
(1) (b), (c) and (d) only (2) (a) and (b) only
(3)  (c) and (d) only (4) (a), (c) and (d) only

JTSRES vIaTeal o 31d B iR I=wel vareal o YR § WRdra Iufee # forfaa gt swuer e & ded
H frafafad # § F 9 FoH 9 €2

(a) YRAE ISl M hl A IR STHRHT ISR § Tofest e e 9 gfaeast et 188 |

(b) ¥R wYel % fou o7a fofes STeR Iqersy o)

() HIS Ht IEGeT HI Seie T FAfd HAT TAR SHfsT Brar T |

(d) T F AR I TN 3TfeR THTM I Hiifeh TS IR JAM HufEi ¥ IRA Fuer T

dg Y e
faehey :
(1) &= (b), (o) ¥R (d) (2) A (a) 3 (b)
(3) e (o) ¥R (d) (4) A (a), () ¥R (d)
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43.

Which of the following is true about common property resources ?
(A) These are owned by government.
(B) These are owned by private companies.

(C) These are owned by communities.

Options :
(1) Only (B) (2) Only (B) and (C)
(3) Only (A) and (C) (4) Only (A) and (B)

reit Hata GareEl o o H = H 9w ad § 2
(A) T R TEHR H WA B g |

(B) 31 R Feit wrafai o1 Tenfaed 2 B

(C) T R GHIE P @I B g |

foeheu

(1) = (B) (2) %9 (B) @ (Q)
(3) A (A)F(O) (4) e (A) T (B)

Read the statements (A) and (R) and choose the appropriate option.
(A) : Raja Rammohan Roy founded a reform association known as the Brahmo Sabha in Calcutta.

(R) : He felt that changes were necessary in society and unjust practices needed to be done away
with.

Options :

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(2) (A) is true but (R) is false.

(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

feu T Ferl (A) 3R (R) 1 92 3R Suged fasked 9+ -

(A) : TST THHEA T A FHeAhd § &l 991 F 94 | Teoh YRS TS o1 o7 |

(R) : a8 AT 9 T T § ufRad™ o iR sT=magul dR-adehl ¥ Gehr Il SE € |
faehe :

(1)  (A) 3R (R) S T € AR (A) Y (R) Tt AR Tl Il § |
2) (A) 5 g Afehd (R) TTerd T |

(3)  (A) 3R (R) ST Terd

4) (A) 3R (R) I T T 2T (A) = (R) TR =A@ HIAl |
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44.

45.

46.

World Environment Day is celebrated every year on which one of the following days ?

(1)  5th June 2) 5t July (3) 5th August 4) 5th May
frfafea & 4 fa for e ad iR feag wemn s 2
(1) 53F (2) 5T (3) 5T (4) 57

Read the statements (A) and (R) considering the art forms in colonial India.

Assertion (A) : Colonial rule introduced several new art forms, styles and techniques.

Reason (R) : These were creatively adapted by Indian artists for local patrons and markets.
Choose the correct option.

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(2)  (A) is true but (R) is false.
(3) Both (A) and (R) are false.
(4)

4)  Both (A) and (R) are true and (R) is the correct explanation of (A).

sirafrafers YrRa # fafy=r e w4l & ded & w2H (A) T (R) 1 U8 :

AfueRed (A) :  Aufafis seH # %8 @@ & T hen w4, Afcrdl TR Toh-iehi 1 Gourd gal |
SHIRT (R) : TR YRAM FHABRI 7 3T T Teehi 3TR sToR & feame | STomet 712 vt < |
e fased 94 |

(1) (A) 3R (R) I &t  AfRA (A) i (R) T =A@ Tl el

(2) (A) e € R (R) TTord |

(3)  (A) 3R (R) I Tord |

4) (A) 3R (R) I T T TR (A) T (R) T AT HIl |

Which of the following Kingdoms was established by Kadamba Mayurasharman ?
(1) Rajasthan (2) Gujarat

(3) Madhya Pradesh (4) Karnataka

frefafed & & &1 91 T FHea TR 7 w@fy e on ?

(1) TSR 2) TR
(3) WA T (4) wATew
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47. Match the following and choose the appropriate option.

A B
(a) Punch marked coins (i) Stamped glazed pottery
(b) Northern Black polished ware (ii) Tall double handled jars
(c) Amphorae (iii) Extremely fine pottery
(d) Arretine ware (iv) Stamped with symbols using dyes
1) (@) - (i), (b) - (iid), (c) - (), (d) - (¥) (2) (@) - (i), (b) - (ii), (o) - (itd), (d) - (1)
() (@ - (@), (b) - (i) (c) - (i), (d) - (1) @) (@ - (@), (b) - (i) (c) - (i), (d) - (i)
freferfad o1 gHer hifse don Iuge fashed 1 == Hife :

A B
(a) 3Ted foerk () HR T THHSR A
(b) I HTeT TR qH (i) e SIEY Bl ool T
(c) TwM (iii) oS % =ga & Iaet IR T A
(d) WA TR (iv) ST % T 9 fol ot e o g
(1) (@) - (i), (b) - (i), (c) - (i), (d) - (¥) (2) (@) - (i), (b) - (il), (o) - (i), (d) - (1)
) (@ - (@), (b) - (i) (c) - (iii), (d) - (1) @) (@ - (@), (b) - (i) (c) - (i), (d) - (i)

48. Which of the following are correctly matched ?

Agricultural Practices Description
(A) Subsistence Farming - Practiced to meet the needs of farmer’s own family
(B) Intensive Subsistence Agriculture - Prevalent in the thickly populated areas
(C) Shifting Cultivation - People and animals move from place to place

Choose the correct option.

(1)  (B) and (C) (2) (A)and (O)
(3) All (A), (B) and (C) (4) (A) and (B)
= # ¥ -9 g9 wd gofed €2
i g -
(A) frafe s - FUF YNGR HI STEvIRAreT wl I FH & fow Hi St 7
(B) e fafg &y - OO S 9 &6l 8 yaferd e
(C) T Hf - oHfed SR Uy T T ¥ T W R SN )
el fashed &1 g HifwT |
1) (B) T (©) (2) (A)T=(C)
() (A), (B) 3R (C) wdt (4)  (A) T (B)
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49.

50.

Which of the following statements is/are correct about planets ?
(A) They are lit by the light of the stars.

(B) They are made up of only rocks.

(C) All planets have their moons.

Options :
(1) Only (A) and (B) (2) Only (B) and (C)
(3) All(A), (B) and (C) (4) Only (A)

TR % 9N H frefafed 8 & SHEr/d woE 98 88 ?
(A) o IR & YRR I YRI B € |

(B) o had wgHl 9 o B ¥ |

(C) T T2 % o7 =ie 2 ¥ |

faehey :
(1) e (A) T (B) (2) ad (B) a1 (C)
(3) (A, (B) T (C) |t (4) FId (A)

Read the statements (A) and (R) carefully and choose the correct option.
(A) : Using resources carefully and giving them time to get renewed is called resource conservation.

(R) : Balancing the need to use resources and also conserve them for the future is called sustainable
development.

Options :

(1) Both the statements (A) and (R) are true but (R) does not explain (A).
(2) (A) is true but (R) is false.

(3) (A) is false but (R) is true.

(4) Both the statements (A) and (R) are true and (R) explains (A).

FHOFI (A) 9T (R) =9 ¥ 4 qen fr=fafad § 4 92 fasew 9 -
(A) : HETEHAT T HahdTgesh ST HEAT 3R 3 FelhTor & feTq T ST, TEIEE TS0 HEerd ¥ |

(R) : GHIEAT 1 ITANT A T ATl IR dfasd & faw 37k TR0 H HeH T [T, Haquraoe
forehTd e B |

faereq :

(1) < % (A) W (R) T2 ¥ T (R), (A) I AT T8l 1 B |
(2) (A)FE T g (R) Tord €

(3) (A) e & foheg (R) W T

(4) < ® (A) T (R) T T T (R), (A) T AR HI4A T |
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51.

52.

53.

Read the given Assertion (A) and Reason (R) statements and choose the appropriate option.

Assertion (A) : By the late 19" century, the craft of iron smelting declined and in most villages,
furnaces fell into disuse.

Reason (R) : The iron smelters had to pay a very high tax to the Forest Department that reduced
their income.

Choose the correct option.

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(2) (A) is true but (R) is false.

(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is the correct explanation of (A).

feu T S1fieRer (A) TS SIRUT (R) I 9¢ iR U foshed T
ARTRT (A) : ST TITsal T 37 Toh AR o W hi shell 1 T &1 727 AR aferenier et & wfgar
ST €1 7 |

HIUT (R) : IR TTTcTeh ohl STeT AT ohl Teh Iod Y Sl YA hil TSl o FSrE 3Rt 3T &H
A

e foshed 7 |

(1) (A) 3R (R) S Tt € AR (A) Y (R) Tt AR Tl Il © |
2) (A) W&l § AfF (R) Terd B

(3)  (A) 3R (R) <l Tert €

(4)  (A) ¥R (R) T TE € AR (A) T (R) el S HI1 |

A
A

On which of the following dates Gandhiji asked the Indian people to observe a day of non-violent
opposition to the ‘Rowlatt Act’?

(1) 13 April 1919 (2) 15 December 1919
(3) 6 December 1919 (4) 6 April 1919
freferfied ® 9 forg arirg i TSt 3 R i & Yole TR’ & 31feden fafiy o1 et 7M1 et o1 ?
(1) 13 3Ta 1919 (2) 15 feEw 1919

(3) 6 feEmR 1919 (4) 6 379 1919

What type of winds are Land and Sea breeze ?

(1) Local winds (2) Seasonal winds
(3) Permanent winds (4) Cyclone

fohg YRR i o, T T T THR Bl § 2

(1) T e (2) W gaH

(3) Temd 9o (4) =RaT

P-XT (AN nm 44 F



54.

55.

Reservation of seats in legislation and in Government jobs was granted by the Indian Constitution
to:

(A) Compensate for low grades and marks scored in School and University examinations, because
of which people were not able to compete.
(B) Compensate for years of historical suppression and educational deprivation.

(C) Appease people for political support and rally as vote banks.

Options :
(1) Only (B) (2) Both (A) and (C)
(3) Both (B) and (C) (4) Only (A)

aRerg Hfaem gry faenfase o TSl qen Tert iR # e fean T

(A) =1 goft qen whe wa wifaarer dansti | hH ool i aifaqfd =g, Hifer 39 wR0 9§ & gfaead
T AN TE A |

(B) @l % Ufqerfaess <H= e Herfores siferan & afagfd &9
(C) dre ¥% & &Y H Teiifaeh TrA dun Lt & faw &l sl g &3 3q |

fasea :
(1) <= (B) (2) (A) &R (C) Tl
(3) (B) 3R (C) T (4) e (A)

While teaching in a Social Science class, a student asks you - "how can we measure the distance
between longitudes on Equator ?” What answer will be correct for such calculation ?

1) Dividing the total length of Equator with 360.

(1)

(2) Dividing the half length of Equator with 360.
(3) Dividing the double length of Equator with 90.
(4) Dividing the total length of Equator with 180.

g fa T §U el § ek BT TT79 U9l § - * faad e ®= g0 adt <enadl & o= i gt o1 A1
HY X Fohd € 7' T YA TG HIAET IR FEl 2T 2

(1) faeaa an st o s 360 9 fawifsa we|
(2) fasaa ar =t ot @ il 360 ¥ fawifsa s
(3) Toged @ & T @ i 90 § faifsa e |
(4) Toged @ st @ 1180 § fawifad &
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56.

57.

Neolithic sites are different than Palaeolithic sites because of the following :
(i) Mortars and pestles were used for grinding grains.

(ii) Pots were used for cooking food.

(iii) Cloth was woven using different kinds of material.

(iv) Use of stone tools began.

Choose the correct option.

(1) (@), (ii) and (iii) only (2) (@) and (iv) only

(3) (@), (i) and (iv) only (4) (i) and (ii) only

frafafaa # 9 forT wRoll & e e quTTer e 9 = €
() STrEet AR TIA 1 GAR SN S To & fau fman s o)

(ii) Sl 1 JERT WM 94 o foe foham S e

(iii) fafa= gpR 1 =TSl 9 *U I I I |

(iv) TeeR o SATSIRI o1 YN 3TRY 2 774 |

et fahed a1 =7 hifaT |
(1) e (i), (i) 3T (iii) (2) wHAA (i) 3R (iv)
()  FA (i), (i) 3 (iv) 4)  FIA (i) 3R (ii)

Who among the following are elected members of the Local Governments ?

(A) Ward member (B) Panchayat President
(C) Secretary (D) Ward Councillor
Options :

(1) (A) and (D) only (2) (A), (B) and (C) only
(3) (A), (B) and (D) only (4) (A) and (B) only
frefafad § 9 SN T A 61 AT 3T 9es BT § 2
ISEEIERE! (B) ¥

(C) wfea (D) TS 9N

forehe -

(1) e (A) 3T (D) (2) 9 (A), (B) 3R (C)
(3) A (A), (B) R (D) (4) A (A) 3 (B)
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59.

60.

When it is 1:00 p.m. at Greenwich, what time will it be at 60° West and 60° East respectively ?
(1) 9:00 a.m. and 5:00 p.m. (2) 5:00 a.m. and 9:00 p.m.

(3)  9:00 p.m. and 5:00 a.m. (4) 5:00 p.m. and 9:00 a.m.

& A= T 1:00 STIEA 1 FHI RN a8 WA= o 60° qR=H T2 60° T8 H AT T T BT 2
(1)  9:00 gaigs a1 5:00 TR (2)  5:00 gargd €1 9:00 TR

(3)  9:00 3THRTEA AT 5:00 qaArgA (4)  5:00 3THRTEA AT 9:00 JaArgA

Diversity came with something new and different due to

(1) Genetic composition (2) Similarities and identical traits

(3) Homogeneous population (4) Intermixing of cultures

fafaudr F= T 3R 1o TR STt § -

(1)  SATIaRTR T % HR (2) TEEAE 3R THM A& o HR

(3) HSIE SHEEA % HRY (4) Wl & WER g0 & SR
According to the Uttaramerur inscription, who could become a member of a Sabha ?
(A) The owners of land from which land revenue is collected.

(B) They should be between 25 and 70 years of age.

(C) They should have their own houses.

(D) They should have knowledge of the Vedas.

Options :

(1) Only (A) and (B) (2) Only (A) and (D)

(3) Only (A), (C) and (D) (4) Only (A)

STHEL SICTE & STTHR WY1 T TG hi- &1 Fehal o1 ?

(A) T yffr 1 @ SR e age S |

(B) 3! 3 25 3R 70 % == B =

(C) 3T U 3TYAT =R T AR |

(D) 3= 3&i 1 JIE BT AT |

faehe :

(1) 9 (8) 3R (B) (2) 9 (A) ¥R (D)

(3) F (), (C) ¥R (D) (4) F (A)
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61.

62.

Nelson Mandela spent 28 years of imprisonment along with thousands of black and coloured
people.

(1) to get punishment for offence.
(2) to get powerful positions in Government.
(38) to raise voice against King and royal monarchy.

(4) for opposing apartheid and struggle against policies of segregation.

T HSAT 3 he & 28 9 B9 37%ad Al o Ty feamy -

(1) 390y o faQ 9= 9H & fow

(2) T FAER el o wif| & faw

(3) TS AR TSR o Faa 37ars 38 & feru |

(4) T 9 F faly W AR sterma w6t Hifqe % faers dud w & faw)

Which one of the following statements is correct regarding the nature of Social Science ?
(A) Social Science is a dynamic subject that generates debate and discussion.

(B) In Social Science only individual human relations are considered and not the accounts of
individual actions.

(C) Social Science is primarily interdisciplinary subject with a focus on discovery and

experimentation.

(D) The scope of Social Science is very narrow and hence it is fit to teach it only at the primary
level.

Options :

(1) (C) and (D) only (2) (A), (B) and (C) only

(3) (A) and (B) only 4) (A) and (C) only

g o foma 6t yehfa & Geie | f11 § | & 91 e 9t §2
(A) WIS faaM T Terees fowme © i are-foaarg SR gt &l e e ©

(B) HrHIfSTeR for | et SAfaTa Aata Heiel W faaR fhan s € 71 for =afaama & & o -ig ™
IEERAERISINIRS

(C) TS faam q&a &9 § stwafdweht ¥ formeh Thg forg @iet i wam 7

(D) ISR fo 1 &5 9gd & HHfad ¢ ST I8 hadl ATHd TR JeH & 47 § |
forehe -

(1) e (C) 3R (D) (2) e (A), (B) 3R (C)

(3) e (A) ¥R (B) (4) A (A) IR (Q)
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63. Small workshops and factories prefer to employ casual workers because
(A) state has already taken care of workers’ benefits
(B) they can be fired without any prior notice
(C) most of them are not literate
(D) they could be paid lowest possible wages
Options :
1) Band®) () ©and(@D) () (A)and (©) (4 (A)and (B)

B HEMATE IR HE™ A gfiqeni 1 IR 24 H qie <d § i |

(A) T A Tt & gfTehi o 1Y H S T g §
(B) =% for forelt udl fed o el & Frehren s wevan §
(C) T ¥ erferkiw forfera T2 2 €

(D) 3= AqH Herfed o fean S wehan ©

64. Which of the following is an incorrect statement about Gram Sabha ?
(I) The Gram Sabha Secretary is an elected person.

(2) The Gram Sabha Secretary is responsible for calling the meeting of Gram Sabha and Gram
Panchayat.

(3) The Gram Sabha Secretary keeps a record of the Gram Sabha meeting proceedings.

(4) The work of the Gram Panchayat has to be approved by the Gram Sabha.
T | % IR H 7 § § HF-1 A e § 2

(1) 7™ 91 1 Giaa Tk aitad safed g 2|
(2) UM G % Giad & HE A G91 SFR TH TEREG i SASH ol H g
(3) UM W ¥ WiEd 1w UH G H A 1R SH g2 == 9 i 1 e W B ¥

(4) UM YEEA % 1 B UH A H SR O w=dt S

<
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66.

Match the following and choose the correct option.
A B

(A) Narration charts (i) stepsin a process
(B) Relationship charts (i) data in the form of table
(C) Flow charts (iii) historical development
(D) Tabulation charts (iv) show cause-and-effect relationships
1) (A)-Gv), B)-(i1), (O-(), D)-(ii))  (2)  (A)-(iv), (B)-(iid), (O)-(ii), (D)-(0)
) (A)-G), (B)-(iid), (O-@v), (D)-() (4  (A)-(ii), (B)-(iv), (O)-@1), (D)-(i)
11 1 e #Y oIk Wt foashed o1 91 e -

A B
(A)  foeor =m @) T U % =
(B) way = (i) TRt & €9 F S
(C) =R (iii) CfceTEes foshE
(D) RO =1 (iv) hTI-hROT Geiell ol S ©
1) (A)-@v), B)-(), (O)-(), (D))  (2)  (A)-{v), (B)-(iid), (O)-(i), (D)-()
) (A)-G), (B)-(iid), (O-@v), (D)-() (4  (A)-(i), (B)-(iv), (O)-(1), (D)-(i)

Sixty-Percent weightage is given by the teacher to open-ended questions in a Social Science question
paper. Which skill does the teacher want to test among students through this strategy ?

(A) Writing skills only

(B) Intrapersonal skills

(©) Logical thinking and creative skills
(D) Application and presentation skills

Options :
(1) (C) and (D) only (2) (A), (B) and (C) only
(3) (B), (C) and (D) only (4) (A) and (B) only

foreren gRT AT faaM o W9 T | 60% YR Geil T ot U1 bt fean < 1 39 ifa & Areem |
fo1eten ST o fohd hIvTet <Rl SiTeT =TT © 2

(A) HIA TG IR

IR RERIESERCAN
(C) difehenr foia W GeTeHs hivTal

(D) STITANTCHe TS Tl hIeT]

fawea :
(1) e (C) 3 (D) (2) = (A), (B) ¥R (C)
(3) = (B), (C) 3 (D) (4) e (A) R (B)
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67.

68.

Which of the following questions asked by the teacher come under the category of exploratory and
critical questions ?

(A) What is the southernmost part of the Himalayas called ?

(B) Is the Sun a star ? Why ?

(C) Why does more population reside in the Northern plains ?

(D) Between which two countries is the Pak Water Treaty located ?

Options :
(1) (B) only (2)  (A), (B), (C) and (D)
(3) (C) only (4) (B) and (Q)

el B etk gR1 U MU T § ¥ RE | U ST 3R STTeeHIcHs U9 i SO § 37 € 2
(A) forrer™ o wag Sfeqult 9RT il A1 gl S & 2

(B) N g UH AN F 2 I 2

(C) I HeH H sifyrss SHEE fam =i &t § 2

(D) e S |fY ford < el o ot feera €2

faweT :
(1) e (B) (2) (A), (B), (O) &R (D)
(3) = (Q) (4) (B) 3R (C)

Which of the following aspect is considered in the Right to Education Act, 2009 as part of evaluation
procedures ?

(A) Confirm with the values enshrined in the Indian Constitution
(B) Examination should involve mainly summative assessment
(C) Development of the physical abilities of learners to the fullest extent

(D) Examinations are conducted within the school premises

Options :
(1) (A), (©) and (D) only (2) (A) and (B) only
3) (A) and (C) only 4) (A), (B) and (C) only

frefafed 9 9 fra ga 1 faen o1 stfyenr stfufEm, 2009 5 gooied o fafedl & 9 o €9 1 fo=m
IERIKIDIE

(A) R Gfaum § gfasetd gedl S STHeT Sl

(B) WRiaT ® H&d: AT SAlcher ! WitHferd foham ST =nfew
(C) fomnfefai =t eIt arareti =61 qui a9 fasme

(D) el Thel U H & Bt €

faerea :

(1) e (A), (O) ¥R (D) (2) 9 (A) ¥R (B)
(3) A (A) 3R (C) (4) & (A), (B) 3R (C)
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69.

70.

71.

Select the reason behind the low wages paid for agricultural labourers.
(1) They depend on land owners for a regular work.

(2) Most of them do not have their own land.

(3) They are satisfied with wages prevailing in the market.

(4) They are not skilled.

Qe weigll 1 < S aTelt A ASIgd o R 1 A e |
(1) 3w frafaa wm % fag yfa mfeent w fuk ga €
(2) T I Stfukien <l % U AU SHH T diet §

() o 9o ¥ e W Aegd 4 Gqe B

(4) o FIA T AL

In a field trip which is the first skill to be developed among students ?
(1) Observation skill (2) Experimentation skill

(3) Reasoning skill (4) Analytical skill

Tk &-yqur & feu faenfelsi § form v 1 gt fawfaa s =nfed ?
(1) TECR HIEE (2) TIN HIETA
(3) e A (4) foreroor e

Which of the following emerged as an important religion in modern Adivasi history, during the
nineteenth century ?

(1) Christianity (2) Hinduism (3) Islam (4) Buddhism

SITEE ITeal o QR SATYeh STfamt sfag™ H & 91 ¥H T 9gd & Hecqul 99 & &9 H 39 ?
(1) e uH (2 fegw (3) ™ (4) g o
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72.

73.

Which of the following topics are highly appropriate for middle level students ?
(A) Contribution of Mahatma Gandhi in history.

(B) Economic development of India.

(C) Status of Women in present scenario.

(D) Reasons for population growth.

Options :
(1) (A) and (D) only (2) (B), (C) and (D) only
3)  (A), (©) and (D) only 4) (A) and (C) only

frefafea & 9 wF 9 fowa fafea wpa fornfedi & faw sifa suga €2
(A) 3faerd § HereAT i 1 FNEH
B) YRd o Tk forenm

Which of the following questions assess the evaluation aspect of cognitive abilities ?
(A) Poshan Abhiyan is an important programme to improve the nutrition level of Indian children.
Examine the statement with evidences.

(B) Colonial rule in India for two centuries left India with irreversible social change in India. Do
you agree with this statement ? Explain.

(C) Describe the important features of Jan Dhan Yojana.
(D) Poverty and unemployment in India has declined in the post 1991 India. Justify this statement.

Options :
(1) Only (A), (B) and (C) (2) Only (B), (C) and (D)
(3) Only (C) and (D) (4) Only (A) and (B)

frefafed # @ w1 9§ T SIEIHS &adisti % et Uel i i § ?

(A) T AR YRS = % W60 TR Bl GURA 3G Teh Hecqul HrEhH ¢ | @1edi afed weF w i
RIS |

(B) T vITfseal & 9RA H AT W= 3 wRa &1 ifacd amfsre 9feds @t feufa # =i foar 71
AT 319 39 T ¥ HEHA & 2 SATAT It |

C) S ¥ AISHT i FEwqul foRraarsti 1 oA it |

D) 1991 & IWIS H 9Rd H et 3iR s # fiRmae o1 ¥ 1 wed &1 siifae fag ifsm

(1) = (A), (B) 3T (C) (2) = (B), (C) ¥R (D)
(3) d (C) ¥R (D) (4) e (A) TR (B)
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74.

75.

76.

Read the statements (A) and (B) and choose the appropriate option.

Statement (A) : Contemporary challenges to the principle of a democratic society are conflicts
such as those between individual rights and social responsibilities.

Statement (B) : Within a social science classroom, conflict resolution approach could be used to
engage students to study ‘Problems of democracy’.

(1) Both (A) and (B) are false. (2) (A) is true but (B) is false.
(3) (A) is false but (B) is true. (4) Both (A) and (B) are true.
F (A) 3R (B) =l Ufew a1 W fashed 1 9= hifer |

HY (A) : AlhdiIh TS * FFGIdl H TR FAfGal € S R afaama sifear ik amfee
I & ot foarg |

R (B) : IS T et o iR, TR sl sl THEAST & A2 § fornfiai ol §evd W@ & fag
foaTe THIEM UMY 61 YT fRan ST Hehd © |

(1) (A) 3R (B) i 7T € | 2) (A) T& T AfHA (B) TEW 2
() (A) TTed § ifeRd (B) TR R 4) (A) 3R (B) T W 1

A belief that science requires a technical mind and girls and women are not capable of dealing
with technical things signifies :

(1) Casteism (2) Iliteracy (38) Ignorance (4) Stereotype

Teh YRoN T fo o foTe ues qeheieh! fommT =it STreavarshal it § SR orefehal qen Afeed deh-ten =i 9
fr9e o e 7l €, 9% <widl € ¢

(1) Sfdare (2) TreRa (3) A (4) wlgeg Yron

Social Science curricular activities can be made more engaging for students by
(1) focusing only on the most important historical events and figures.

(2) emphasizing memorization of facts and figures.

(38) reducing critical thinking and discussion in favour of lectures.

(4) incorporating technology and multimedia resources.

B o fere wrfsres faam weashn & nfafaferi @i o) stfies st sFm=n < Hehell ©
(1) Had o Heayul Wfaeiiae sl 3R siiehel W &M Higd & 9|

(2) i iR S I IE FHA WK A H |

(3) AT & U H SATGeHHS G IR <= ol hH & H |

(4) YRRl iR AedHifean dareHl &1 mid w5 9|

3
4
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77.

78.

79.

Rohit found that some children in his class could not explain the position of latitude and longitude
lines on the map. What should Rohit do to help children acquire this competency ?

(1) Empirical research (2) Action research

(3) Applied research (4) Case study

Ufed 3 arn T STHT Fall & Fo T=d GHFTA T &I o M= @nsti t fearfq o1 e 78 w2 I €
J=d] bl SHH T&IH o1 H HeE hid o fou Ufed hl 1 L1 I1fey ?

(1) 3TgHIfereh STTEY™ (2) ToRaTcHeh STHYM

(3) U ATHYUH (4) HY I

Which would be the best teaching pedagogy to understand the trends in poverty in Indian States
and Union Territories ?

(1) Debate (2) Secondary data analysis

(3) Brainstorming (4) Field trip

IR T 3R Shaenfaa et § i st ygfaei T& 37 qoicteh STee ol §He gq garay farero
AT oTedt i € gntt 2

(1) ae-foar (2) Todteren stiwsi =t forweryon

(3) foramew gfshan (sAegifm) 4) & yHI

Which of the following questions promote critical thinking ?

(A) What are the different ways through which the Government can take steps to provide
healthcare for all ? Discuss.

(B) Examine the statement : As compared to Amazon, pollution in river Ganga will affect human
life greatly.

C) Differentiate between the physiography of Brazil and India.

D) Describe important features of Himalayas.

E) What was the role of the Zamindar in Mughal administration ?

Options :
(1) Only (B) and (C) (2) Only (A), (B), (C) and (D)
(3) Only (B), (C), (D) and (E) (4) Only (A) and (B)

frfafed § @ oF @ 999 3TeiramTes fea 1 agen 3 € 2

(A) @ fafa= ol 71 € 5% g TR Fft 1 e e gy i ¥ Hed 331 Fehdl § 2 ==t
RIS |

(B) TS I Gl § TN A<t H YUl Uel e w1 A9 &9 Y JIfed T | FUF Y S Hiforg :
(C) ITSITel Tl WRA 1 Y-3TH(d & o= 9 HIFIC |

(D) ferTera &t AUt fosromes @1 i wifs

(E) 7Tl URImE § SHIQR sl yjfient =R off ?

B

~—"

faweT :
(1) e (B) ¥R (O) (2) e (A), (B), (C) ¥R (D)
(3) = (B), (O), (D) ¥R (E) (4) kel (A) 3R (B)
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80.

81.

Consider the following statements (A) and (B).
(A) The Government of India Act 1909, allowed for some elected representation system in India.
(B) Through Government of India Act 1909 all adults were given the right to vote.

Choose the correct option.

(1) Only (B) is true (2) Both (A) and (B) are true
(3) Neither (A) nor (B) is true (4) Only (A) is true
= FeMl (A) T2 (B) ! 9 |

(A) 1909 H 9 TEHE 3T Sfeal Tae  F© B8 doh ARA H {alit=d FfdHIe i SHase sl Heil of off |
(B) 1909 % TaHe SATh Sfeal Tae I A+l Ta%ehi ol dle ST i TR e |

~

|E foereq 1 =91 sifsw)

(1) adt (B) W&l ®1 (2)  (A) T (B) S wE ¥ |
() AM(A) T TIARAL (B) T Tl (4) Had (A) T T

Consider the statements (A) and (B) and choose the correct option of the following.

Statement (A) : Summative assessment monitors the learner’s progress throughout the teaching-
learning process.

Statement (B) : Formative assessment is conducted at the end of the course.
(1) Both (A) and (B) are false. (2) (A) is true but (B) is false.
(3) (A) is false but (B) is true. (4) Both (A) and (B) are true.

Fo (A) 3R (B) W fa=ar =wifse qen fr=fafaa § @ @@ fowen &1 === Sifaw |

HY (A) : AR Aieher, reror-siferm ufshean & ¥E @ ofa T faene @t woifa o1 fderor e 7

HYT (B) : THIHSE AToheld UISshH & 3id | Tl €
(1) (A) 3R (B) i 7T €| 2) (A)F& ¥ W (B) oW 2|
(3) (A)TTed § T (B) Tl T 4) (A) 3R (B) T W €1
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82.

83.

84.

A teacher wants students to understand the functioning of governmental bodies like Village
Panchayat. Which of the following source of data collection will provide first-hand and authentic
information ?

(1) Field trip (2) Biography
(3) Textbook (4) Newspaper articles

T Yifarent amedt § T o Im durE S W Rl & wmens o 99g | fEfafed § 9 se-E
S -HUBU ol &Id ToIel TR IrH1iureh SRl Ye T ?

(1) sT=ad aen (2) Sfret

(3) UIAIEH (4) STEEN @

What does it mean to use the dialectic approach to teaching in the Social Science classroom ?

(1) Using drama in the classroom to generate interest in students

(2) Using examples and analogies to clarify abstract concepts

(3) Using maps and atlases to enrich students” understanding of Geography

(4) Using dialogue between student and teacher as the main method of knowledge generation

grTftes fagm e ® foreror & ggrenes SURT % WM | & e § 2

(1) foenfeiar & s 3cq=1 T B &l H SH RN JAT KA

(2) ST SRS sl T FHLH 7q SN T WGl 1 TIRT HET

(3) forenfef=ii sl yriiet <l W& Il TYLR SN &g WA T TAH! hl FATT HIA
(4) 9 % faem =t g fafy & wu A foeneff oik foveres o e aral 1 9= e

The teacher divides the children of her class into 4 groups and gives them to write the names of the
sources of water and then discusses the sources of water with each group. Which of the following
he/she is attempting first as part of 5E approach to lesson plan ?

(1) Evaluate (2) Explain (3) Engage (4) Explore
farfagent sTo+t et o a==l ol 4 T | fawIfq Tk STa & &l & A forad &1 St 7 7R 36 918 Ios

T 9 A o Tl 9 T4l Al § | qSAS oh 5% SUNH o q8d 9% T4 § 9 i 91 Tl T8 TAE
Eauiw

(1) 9t w1 (2) ToedR KT (3) Had KT (4)  STOTOT LA
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85.

86.

Which one of the following teaching methods are suitable to overcome the teaching challenges
faced in Social Sciences ?

(A) From Specific to General (B) From Complex to General
(C) From Known to Unknown (D) From Analysis to Synthesis
Choose the correct option.

(1)  (B), (C) and (D) 2  (A), (© and (D)

(3) (A), (B) and (D) (4) (A), (B) and ()

frefafed & & wF W@ foaon fafeat amfse fomm § on @ gHfe @ R (fF9ed) g w3 €2
(A) faftre 9 9m=T T (B) Wifed & WH T

(C) ¥ [ 7 (D) fosctomr | Hyewor qeh

HEr fased &1 =991 Sifs |

(1) (B), (C) 3R (D) 2 (A), (© #R(D)

(3)  (A), (B) *TR (D) 4 (A), (B) R (Q)

How can a Social Studies teacher develop social values among students ?

(i)  Developing sense of discipline

(i) Behaving in the appropriate manner in school/class

(iii) Asking Students to watch commercial movies

(iv) Follow appropriate democratic values in class/school setting

Choose the correct option.

(1)  Only (i), (ii) and (iii) (2)  Only (i), (ii) and (iv)

(3)  Only (iii) and (iv) (4) Only (i) and (iii)

T [Tt formm frerer faenferdi # forg g wmifee qedi o1 faefad s Fehar & 2
i) TR o W I TR ik

(
(i) Thel/He H IUYH T Y HTER Hleh
(iii) faenfof = et fhen T@ % forw e

(iv) hef/ehel IRt | U TAehdiiIeh Hedl ol T hich

el faehed &1 I1a e |
(1) ad (i), (ii) 3R (iii) (2) A (i), (ii) 3R (iv)
(3)  FaA (iii) 3R (iv) (4) HIA (i) R (iii)
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87. Critical thinking is important in Social Science because :

(A) It helps students to pass exam.

(B) It allows students to guess the correct answer

(C) It helps students memorize information more easily

(D) It prepare students for higher-level-thinking

(E) It promotes problem-solving abilities

Choose the correct option :

(1) (A), (B) and (C) (2) Only (A), (B), (C) and (E)
(3) Only (D) and (E) (4) Only (A) and (B)

AR foam & HHTcTeHTHS e Hew U § R

(A) g BE I T UG HE H A HIA T

(B) UE BT ol TE IW H STIHH I i T et T

(C) I% B I AF AEHN ¥ TR 18 T | Aeg il 7 |
(D) 9% BHE I oo T 9 o faIg TR i 7

(E) IS THE-FHIYM %A ! &THdl Sl Wedfed w7

et faehed 1 =T= & :
(1) (A), (B) 3R (C) (2) % (A), (B), (C) ¥R (E)
(3) = (D) ¥R (E) (4) kel (A) 3R (B)

88. Indian Constitution lays down
(1)  the basic laws or rules that have to be followed by everyone
(2) the structure of religious institutions
(3) norms for participation of people into social movements that seek to challenge the Government

(4) the national curriculum framework

IR Hfae fuifa w5 § -

(1) it srE = fom S arer gt 1 w1 8 2

(2) =fiien HEM i | |

(3) G TS | T AN St TR ! AT <A1 918 ©, i YRl & ferg fem |
(4) TR TEEEE wREn
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89. The objective of establishing Panchayati Raj institutions in India was to achieve
(A) Participatory governance (B) Cultural homogeneity
(C) Democratic decentralization (D) Religious diversity
Choose the correct option.

(1) (B) and (C) 2) ©and (D) () (A)and ()  (4) (A)and (B)

RA H Gl TS GEAHI bt TG i <l 3294 IqTFSfd ShEAT T |
(A) I gRT WA (B) Hi&hideh Teh&ddl (FHIAT)
(C) crehdifsh forhgtanor (D) =nfies fafaem

~

& foereq 1 =91 sifsw)

(1) (B) 3R (C) (2) (C) (D) (3) (A) Q) (4) (A) R (B)

90. The Independence of Judiciary implies :
(1) the judiciary can direct the legislature to frame appropriate laws.
(2) the judiciary can direct the executive to implement the laws properly.
(3)  the judiciary can work under the pressure of legislature, if required.

(4) the legislature and the executive cannot interfere in the work of the judiciary.

ATcAehT hi Taddl SUid ¢ :

(1) =ardifereh, faenfaent 1 SUga HF S GrE1 TR H &1 89 T Fehat 7|
(2) =ATTfeTehT, SHTATICIshT 1 HE ® & HIA! bl BT H H 9 T Tehal T
(3) TR STEvFshdl B df =rifereh, faenfash % <ama § M wX Tahdt 7

(4) Taenfaen iR wriufes], =mEafas & M | saT Tl R Gl € |
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PART - IV
LANGUAGE -1 : ENGLISH

IMPORTANT : Candidates should attempt questions from Part-IV (Q. No. 91-120), if they have opted

for ENGLISH as LANGUAGE-I only.

Read the passage given below and answer the questions (91 - 99) that follow :

1.

91.

92.

93.

Colours have a deeper significance for a home than one can imagine. For if used right, they can
give a perfect look. In today’s time, when there is an abundance of everything but space, colour
plays an important role in creating the right ambience and perhaps the space that you crave for.
Besides having a tremendous potential to create mood through sheer appeal to the senses, right
use of colours actually helps you create the spacious feeling.

For instance, instead of using a plain monotonous colour on all four walls, if you get a little
imaginative, perhaps a little bold, you can create a sense of space within those four walls. One of
the ways would be to blend light and dark colours. Or to paint two opposite sides in a lighter
shade than the other two. Colour can add height to your room too. For instance, if the room is
painted white and the upholstery of your furniture is in deep blue tone, the false ceilings could be
painted in a light blue shade. Think out of the box to give even more interesting effects to your
room.

Whatever your choice is, there are options in the market to help you realise your needs. These days
you get special patterned stencils to decorate walls with interesting patterns like flowers, leaves,
birds etc. Some people draw an entire scenery on one side of the wall to give the feeling of bringing
the outdoors inside. The choices are many, so are the creative ways. Just let your imagination flow.
Every room reflects the personality of the occupant, hence it is important to pay attention to every
detail. Your walls are your canvases, freshly painted and all bare. Go ahead, splash colours and
watch the effect unfold.

The word opposite in meaning to the underlined word in the given sentence is :

‘Right use of colours actually helps you create the spacious feeling'.
(1) airy (2) fresh (3) special (4) cramped

Read the following statements :

(A) Colours if used creatively can give the perfect look to a room.

(B) Space is abundant nowadays.

(C) The right colour combination on walls and the roof creates a spacious feeling.
(1) (B) and (C) are correct, (A) is incorrect
(
(
(

)
2) (A), (B) and (C) are all correct
3) (A) and (C) are incorrect, (B) is correct
4) (A) and (C) are correct, (B) is incorrect

As mentioned by the writer in para 1, In today’s times, what is a modern day home owner longing
for ?

(1) Space (2) Sheer appeal
(3) Imagination (4) Colours
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94. Identify the parts of speech of the underlined words in the sentence given below :

‘Right use of colours actually helps you create the spacious feeling’.

(1) verb, adverb (2) preposition, verb

(3) conjunction, verb (4) adverb, noun

95. According to the writer, it is important to pay attention to the colour scheme of your home
because :
(1) it reflects the personality of the owner
(2) the walls reveal the secrets of your life
(3) the monotonous shades add life to the rooms
(4) the ambience created makes it look boring

96. As mentioned by the writer in para 2, some ways by which you can break the monotony of the
room is :

(1) by blending light and dark shades

(2) painting all the 4 walls in plain colours

(3) Dboth (1) and (2)

(4) (1) is correct, but not (2)

97. Complete the given word analogy :
monotonous : dull :: ambience: ?

(1) temperature (2) aura (3) weather (4) room

98. ‘To think out of the box” does not mean to think :
(1) about novel ideas (2) in unusual ways

(8) traditionally (4) creatively and imaginatively

99. Some people draw colourful sceneries on their home walls to :
(1) bring nature into their homes
(2) create a sense of space
(3) blend dark and light colours
(4)

4) give a deeper significance to their home
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Read the poem given below and answer the questions (100 - 105) that follow :

100.

101.

102.

103.

104.

105.

Between my finger and my thumb

The squat pen rests: snug as a gun.

Under my window, a clean rasping sound

When the spade sings into gravelly ground.
My father, digging, I look down
Till his straining rump among the flowerbeds
Bends low, comes up twenty years away
Stooping in rhythm through potato drills,

Where he was digging

The coarse boot nestled on the lug, the shaft

Against the inside knee was levered firmly.

He rooted out tall tops, buried the bright edge deep.
To scatter new potatoes that we picked,
Loving their cool hardness in our hands.

The poetic devices in line 2 and line 4 are :
(1) hyperbole and metaphor (2) simile and alliteration
(3) metaphor and simile (4) metaphor and personification

What is the overall tone of the poem ?
(1) pitiful and sympathetic (2) disgust and animosity
(3) nostalgic and admiration (4) annoyance and anger

Complete the word analogy :
coarse : rough :: snug: ?
(1) perfect (2) lethal (3) comfortable (4) lazy

..... loving their cool hardness in our hands’. What is the speaker referring to the given line ?
(1) the handles of the spade (2) the potatoes
(3) the potato drills (4) the gun

In the second stanza, the poet is observing :

(1) his father digging potatoes

(2) farmers in the fields

(38) potato growers in the countryside
(4) a gardener tending flower beds

How does the speaker’s father feel about his son’s choice of career ?
(1) He wishes, his son choose a more practical path.

(2) Heis glad his son is not a farmer.
(3) He is ambivalent towards the choice.
(4) The poem doesn’t make it clear.
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106.

107.

108.

109.

110.

111.

112.

‘Authenticity of materials’ refers to :

(1) materials written or developed by people in authority.
(2) materials written or developed in real life content.

(3) materials which children bring from home.

(4) materials written by the teacher for her class.

Which of the following are known as receptive skills ?
(1) Reading and speaking (2) Speaking and writing
(38) Listening and reading (4) Listening and writing

Aparna, a learner of class V understands that listening involves listening to each sound, words,
then sentences to get the meaning of the speech or an audio. Which approach/strategy she believes
in for learning to listen ?

(1) Bottom-up approach

(2) Both top-down and bottom-up approach

(3) It is neither top-down nor bottom-up approach
(4) Top-down approach

Which of the following is NOT true of the National Education Policy (NEP) 2020 on the study of

foreign languages ?

(1) Study of foreign languages included as one of the languages under the three language formula.

(2) Foreign language does not include in the three languages studied under three language
formula.

(8) French is one of the language recommended to be studied as an additional option.

(4) Study of foreign languages as an additional option during the secondary stage.

Many Indians who go abroad for jobs learn the language of the place. What is this motivation
known as ?

(1) Integrative motivation.

(2) Instrumental motivation.

(3) It is neither instrumental nor integrative motivation.

(4) Both integrative and instrumental motivation.

Here is text or some statements. Find out which language register does this text represent ?

The Indian Constitution recognises every person as equal. This means that every individual
in the country, including male and female, person from all castes, religions, tribes, educational and
economic background are recognised as equal. This is not to say that inequity ceases to exist. It
doesn’t. But at least, in democratic India, the principle of the equality of all persons is recognised.
(1) Social Science register (2) Legal register
(3)  Scientific register (4) Politic register

Which of the following statements is true of a dialect of a language ?

(1) Speakers of different dialects of one language can understand the other dialect speaker.
(2) A dialect is a bigger category and language is a smaller category.

(3) Sometime different social group may speak different dialects of the same language.

(4) Dialects of language vary from region to region.
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113.

114.

115.

116.

117.

118.

119.

120.

Which of the following tasks promotes integrated learning skills ?

(1) Assignment (2) Project work

(3) Writing an article (4) Role play

Which of the following refers to ‘Knowing about language’?

(1) Procedural knowledge (2) Grammatical knowledge
(3) Strategic competence (4) Declarative knowledge

A teacher of class VI does a warm up activity to connect their previous knowledge and experience
with the text they would read. She asks her learners to look at the illustrations of the reading text
(the story) before she begin to teach the text. What does she want her learners to do ?

(1) Appreciate the illustrations.

(2) Make prediction about the reading text.

(3) Make them understand the illustrations.

(4) Visualize the story through the illustrations.

Which of the following language is NOT a classical language ?
(1) Sanskrit (2) Telugu (3) Hindi (4) Tamil

A continuous record of instances of learning by the learners is known as :

(1) Continuous Comprehensive Assessment
(2) Proficiency assessment

(3) Diagnostic test

(4) Portfolio

What is the following strategy in the context grammar teaching known as ?

Introducing language item in contexts, making learners notice the language items, enabling them
to use in real life contexts and drawing the attention of learner to the form by discovering it.

(1) Deductive method (2) Discovery methods

(8) Consciousness Raising (4) Creating a Schema

What is ‘systemic competence’ in language learning ?

(1) Understanding and applying that languages have a grammatical system.
(2) Understanding that all languages have a common structural system.

(3) Understanding that all human have a systems of many languages.

(4) Understanding and applying that language works as a system.

A teacher of class VI develops the following task for a speaking activity.

Speak five sentences about desert and its climatic conditions.

Is it a good task or not a good task ? Select from option your response and reason for the same.

(1) Itis a good task because it makes the learner to talk about something i.e the desert.

(2) Itis not a good task because some of the learners may not know about desert.

(3) Itisnota good task because it lacks context as there is no input for speaking about desert and
its conditions.

(4) Itis a good task because the learners may have studied about desert in their geography class
and will have inputs to speak.
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PART -V
LANGUAGE - 1l : ENGLISH

IMPORTANT : Candidates should attempt questions from Part-V (Q. No. 121-150), if they

have opted for ENGLISH as LANGUAGE-II only.

Read the passage given below and answer the questions (121 - 128) that follow :

1.

121.

122.

123.

Surrounded by verdant forests, natural springs, and blue hills, Netarhat is Jharkhand’s best-kept
secret, located in the district of Latehar, at a distance of about 151 km from the capital city of
Ranchi. This quaint hill station brings solace and gives visitors much-deserved refuge from the
hustle and bustle of cities. It is located at an altitude of 3696 feet, allowing people to enjoy magnificent
views. Fabulous sunrises and stunning sunsets leave the visitors awestruck. Explore the surreal
beauty of this beautiful place, also known as “Queen of Chota Nagpur”, and return refreshed and
rejuvenated.

With its shimmering waters, sparkling reflections, cool air, and breathtaking scenery, Netarhat
lake offers serenity to its visitors. It is an ideal spot for picnics, and the lake’s tranquil waters tempt
you to go boating as well. Get closer to nature with the most beautiful forests in Jharkhand, and
the pine forests. Netarhat, with its pretty lakes, shady valleys, mountain villages and thick evergreen
forests filled with gorgeous pine trees, provides a panoramic scene to the visitors. The pine forests
surrounded by mists in winter, make any traveller feel as though they have been transported to
another world entirely.

The most well-known location is the Sunrise Point which offers a spectacular view of the sunrising
that resembles an oil painting. Visitors cannot help but be struck by the sun’s rays as they emerge
from valleys covered in lush vegetation and cluster of tall trees. The most picturesque view of the
sunrise is visible from Hotel Prabhat Vihar, situated 17 km from Bazaar Haat. Netarhat certainly is
a perfect getaway in the heart of nature. Guest houses provide cosy accommodations and a heavenly
dining pallete to its visitors.

The phrase ‘hustle and bustle of cities” implies :
(1) stunning sights and scenes of cities

(2) peace and calm of cities
(3) busy and noisy cities
(4) Dbeauty and eye catching views of cities

Read the following statements :

(A) Netarhat is located at a height of 3696 feet.

(B) Itis referred to as the ‘Queen of Chota Nagpur’.
(C) Netarhat is blessed with verdant banyan forests.
(1) (B) and (C) are correct, (A) is incorrect

(2) (A) and (B) are correct, (C) is incorrect

(3) (A), (B) and (C) are all correct

(4) (A) and (C) are correct, (B) is incorrect

Identify the parts of speech of the underlined words in the given sentence :
‘Fabulous sunrises and stunning sunsets leave the visitors awestruck.
(1) verb, adverb (2) noun, adverb  (3) verb, adjective (4) noun, adjective

P-XT (AN nm 70 F



124.

125.

126.

127.

128.

The Sunrise Point offers visitors a breathtaking view of :

(1) the sunrise (2) an oil painting (3) lush vegetation (4) Both (1) and (3)
Which one of the following scenic views is not found in Netarhat ?

(1) Dbeautiful sunrises and sunsets (2) clusters of tall pine trees

(38) scintillating views of sunrises (4) refugee camps

As mentioned in para 1,

the quaint hill station, Netarhat gives peace and calm to visitors because :
(1) they can go fishing in the lake waters

(2) they can enjoy train rides

(38) they can go paragliding from hill tops

(4) they can be away from hectic city life

Complete the given word analogy :
gorgeous : beautiful :: tranquil : 2
(1) peaceful (2) choppy (3) Dblue-green (4) misty

The underlined word in the phrase “this quaint hill station brings solace....” implies :

(1) it makes you visit the place year after year
(2) itevokes curiosity

(38) it brings peace and comfort

(4) it makes you breathless

Read the passage given below and answer the questions (129 - 135) that follow :

1.

129.

It was Somi’s idea that we meet at the pool in ten years time. “When we are men, we must come
back to this place, ten years from today,” he said. “Rusty, at midday on 5 April 1964, we must
return to the pool, no matter where we are, or what we are doing. Promise?” It was a school boy’s
pledge, and made in deadly earnest. As boys, we usually mean the things we say. . And so we
shook hands on it and dived back into the water.

The pool had been discovered by me a few months earlier. I remember that it was going to rain...
I could see the rain moving across the foothills, and I could smell it on the breeze. But instead of
turning homewards, I pushed my way through the leaves and brambles that grew across the
forest path. I had heard the murmur of water and I wanted to see and touch it. Sliding down the
rockface into a small ravine, I found a stream running over a bed of shingle. Water trickled down
from the hillside, from amongst ferns and grasses and wild primroses. The rocks beside the stream
were smooth, and some of them were grey and some yellow. A small waterfall came down the
rocks and formed a deep pool of apple-green water.

When I saw the pool, I ran back to town to tell the others. Anil and Somi were my closest friends.
Anil lived in a crowded lane of the Dilaram Bazaar. He was wild and a little dangerous, subject to
moods and impulses. Somi was sensitive and gentle in his ways, but common with Anil he had a
sense of fun and an instinct for adventure. The pool was my own discovery, and I was proud of it.
“We'll call it Rusty pool”, said Somi.

What brought the three boys together ?
(1) their earnest attitudes (2)  their childhood mischiefs
(3)  their spirit of adventure (4) their swimming talents
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130.

131.

132.

133.

134.

135.

136.

137.

138.

Who among the three friends proposed the idea of meeting at the pool ten years hence ?
(1) Somi (2) Rusty (3) Somi and Rusty (4) Anil

..... a pledge made in deadly earnest’ implies :
(1) to wish for the death of someone

(2) apromise in complete seriousness

(3) a promise not to be kept
(4)

being suspicious about someone’s intention

Identify the parts of speech of the underlined words in the given sentence :

‘He was wild and a little dangerous, subject to moods and impulses’.

(1) adjective, adjective (2) adverb, noun

(3) adjective, noun (4) adverb, adjective

Which word can be the nearest synonym for the word “instinct’ ?
(1) premonition (2) inclination (3) hatred (4) affinity

Which one of the following options does not describe the pool in the stream ?

(1) trickling waterfall down the rocks

(2) apple-green colour of the water
(38) water trickling among fern and grasses
(4) rough rocks on the bed

Complete the word analogy given below :
crowded : deserted :: vigour : __?
(1) strength (2) weakness (3) lethargy (4) heaviness

Kripa and Karan are twins and speak a particular dialect of Manipuri. However they differ in
their speech. What is their individual special way of speaking the dialect known as ?

(1) Dialect (2) Speech act (3) Manipuri (4) Idiolect

Aditi knows the rules of past perfect tense. But can’t use in a context. What knowledge does she
possess ?

(1) Procedural knowledge (2) Declarative knowledge
(3) Application of knowledge (4) Language acquisition device

Learner understands and applies that language works as a system.
(1) Systemic competence (2) Sociolinguistic competence

(3) Strategic competence (4) Communicative competence

P-XT (AN nm 72 F



139.

140.

141.

142.

143.

144.

A teacher of class VII wants her learners to read the short text with an understanding of power
and identity of the people and community presented in the text. What does the teacher aim to
promote among learners ?

(1) Critical literacy (2) Analytical reading
(3) Literary skills (4) Language literacy

Ashwin knows Odia from his birth and he studies English and Hindi. Based on this statement, find
which of the following statement is NOT true ?

(1) His Hindi learning is language learning.

(2) His English learning is language learning.
(3) His English learning is language acquisition.
(4) His Odia learning is language acquisition.

Instrumental motivation is when :

(1) a person learns the language for being closer to the native speakers of the language.
()

(3) a person learns the language for writing a book.
4)

a person learns the language for their communities religious and social functions.

a person learns the language for utilitarian reason like employment.

Here is a text. Read and find out which language register does the text belong to ?

Suddenly, after the revolution, it seemed possible to change this. In many parts of the world
including Europe and Asia, new ideas about individual rights and who controlled social power
began to be discussed. In India, Raja Rammohan Roy and Derozio talked of the significance of the
French Revolution. The developments in the colonies, in turn, reshaped these ideas of societal
change.

(1) Political register (2)  Social Science register

(3) Revolution register (4) Science register

Subash, a teacher of class VIII regrets, “Language assessment generally does not give importance
to receptive skills.” What does he mean by ‘receptive skills’?

(1) Speaking and reading (2) Listening and reading
(3) Speaking and writing (4) Listening and writing

Top-down approach to listening involves :

(1) Listening to the gist of the speech, text or the audio.

(2) Listening to overall message of the text, speech or the audio.
(3) Listening to each sound, words, phrases, clauses and sentences.
(4) Paying attention to the specific details.
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145.

146.

147.

148.

149.

150.

Which of the following is TRUE of the study of classical language as advocated by National Education
Policy (NEP) 2020 ?

(1) Study of classical language as an option under three language formula.
(2) Study of classical language during the preparatory stage.

(3) Study of classical language as a core language at the secondary stage.

(4) Study of classical language as an additional option during secondary stage.

What are the stages involved in designing and doing a Project Work in language classroom ?

(1) Forming groups, identifying the topic, planning, collection of data, interpretation of data,
writing the draft and finalization of the report.

(2) Forming groups, identifying the topic, planning, collection of data, writing the draft,
interpretation of data, and finalization of the report.

(3) Teacher and learners can design and do the project work any way they want to.

(4) Forming groups, planning, collection of data, interpretation of data, writing the draft,
identifying the topic, and finalization of the report.

Which of the following is NOT true of language ?
(1) Language is a repository of history

(2) Language contributes to the sum of human knowledge
(3) Some languages can only convey science and engineering better
(4) Language expresses identity

A test which aims to identify an individual student’s specific areas of weakness and strength is
known as :

(1) Validity test (2) Diagnostic test (3) Formative test (4) Objective test

What is the status given to the English language in the Indian Constitution ?
(1) Associate Official language (2) Foreign language
(3) Language of statutory bodies (4) Official language

A teacher of Class VII wanted to give a writing task of writing a description of a person. She went
out of the classroom and brought a Hawker to her classroom with his basket. She requested him to
be there for about seven minutes and then asked her learners to work in pair and write a description
of the person.

What do you think the hawker in this activity known as ?
(1) A Hawker (2) A participant in the activity
(3) Materials (4) Teaching Assistant
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fafir= vafl R g g STerd < | et 1 6 fanef 61 s @ g foamn )1 foeners 9 S war g |
forermera o fren 1 STameRe g1l @l SR <, faa-ge faam a& Hiftd Te & 99T 3 @a: 9ieq &
fora argran <= aren & fored 3 fafyi= Sehfaai =t aae Uer Bt |

121.

122.

123.

124.

125.

126.

127.

128.

‘ST H i W e © 2

(1) =d 2) =% G) d 4 =
forenera 1 9Re™ e BT =fen ?

(1) e fagm e | (2) o: SETH I FgET oA A |
@) fore faam e (4) SR <A o1 |

-1 T U1 82

(1) w=pfd (2) §S (3) T (4) fan
TS % STTER foneneft #1 w7 ¥ giaa feam 1w e §2

(1) w=pfd (2) fn (3) ifa (4) S
SR FATS o feTT fore e ot fRien =t strevdeRd € ?

(1) =t 9% U7 A o | (2) ST & TR A ae |

(3) &R < AT | (4) HERfd H Helgd HH oM |

foren form wohR @ H&pfa =1 Qifyd 3 d1eft 59 Tehdt © 2

(1) o= H qS3-°T@ 1 Hive foshiad Hith

(2) o= I former H AHIfRT wh

(3) o=l % fIU =g W FHrEiRATdl T TS Hloh
(4) T H TE-TE B AL I
forerrera’ o wify faeg & -

(1) femnm + oo™ (2) fomr + e (@) foa + e (4) femnm + e
foremera’ & e # - o W 2

1) forerem o @ g it 1 waifad & w@ §)
2) fommer = W SgamET yuE T S €

3) o w@-eifm w1 Aftd T2 e ¥

(4) Tomrmem # foan S &l Hya T T
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frefeiaa TTersT Rl UgeRt U T W91 (129 - 135) o Had SUIe 3T dTcl faehed ohl T :

fafir wroell # wifeca =t fafire faen % &9  Horo &1 Aeerqul wm 21 et § off dero fae «t tw
G TR § | S i SHeA-13 ot Sl Sfadl sl el g Tehd € | TSR0 H, Sied § 3T 9l sAfe,
T, T 3R TS ht SfaR il weqd Y S ¥ | SHIfeTT SEH WIER ¥ WER SR Teeyul ¥ Hewyol qr
3R ET M B € | hE oI HiEcashR 397 HEHLO <hl Teh =9 q1ef ¥ & St Tad § o1 e o) ST a1
FHeq 1 off I2 WX T T | TS AIfEshR 279 TER F HIETH ¥ AEEE TUSRI 1 oft s1fiyered #id ¥ |

129. HERO H WERV § TR TecqUl 9 SR TET wiHa B €, Hifh -
1) =% fafire wifecrer 571 fog S €
(2) TEH fafere seiei 9 i w1 & e foha s ¥
(3) =9 e H T aret ferddt oft um, e, we w1 feeor S 7
(4) ¥8 YRV AR gN fare §d % |

130. N9 o STIHR TER0T 1 ¢ ?

(1) e amn 6t sfai sfeat (2) a1 I EE YA

() fafere fo=ur <A (4) wfaal &1 Feher
131. Wd T Wifec ot ford faen o AR A §2

(1) =heml (2) HER (@) Ty (4) et
132. ‘g w11 T -

(1) &fa fgo (2) @fd g (3) =Ed el (4) @fq 3T

133. T4 9Iss 9 &t U89 i -
(1) & W (2) id sfa (3) ATIH e (4) Sfea aEn

134. TS WEAHR FERU & WY F 47 YT i € 2
(1) GHSER giteehro (2) SR =
(3) Heefierd (4) AT HIRR

135. ¥ % Heof § HIA-1 e T TEé © 2
(1) e # fafire fau % w1 H qeeryul T 7
(2) e Fhed T wfeca &t & faun 7
() Howro ¥ R 9 faftre | @@ % g6 wivd 2 €
(4) WIfEHRR FERO H T FHeqT H1 off g2 W) ¥ |
136. T 3R HY1 Jeal & 3R AT i fordr siieft serd € | greiier Sk ate | fafs=ar € | sieft ae & %
ferTa fory ik ol ford €9 H ST SITQ ?
(1) e (2) o R
(3) =gl (4) wEfa o (eTmEfedrtae)
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137.

138.

139.

140.

141.

142.

143.

144.

Afefa Jaehtel & a9 St 81 Weg oo o STTER ST WART &l < Tt ¥ | 35 I foRg YR 1 9
g7

(1) YfshaTcHsh IH (2) U M

(3) M I STAN (4) T 3TS IYHI

foremeff 3@ o BT TS TR SRR | A ¥ S Tk AT Y TWE HE B E
(1) waif (faeefas) g&a (2) ISR AR &

(3) Ffauteh gaqan (4) HEIYUTCHS Q&

el WA i Teh LA 70 fenfef=i ol U oy e |l ved & forw <t €, s wean 9 9 urew
It # Tqd T IR TS i Wl 9 A o o) H THe o9 Heh | 37eATaeh anfe § fhw o

T AT =Ted § 2

(1) HHAEATCHS HI&Rdl (2) fovevoeHE TSH

(3) wfefa® HRTA (4) TS HERAT

fya 5 & & Sfear oo Siar €1 35 Sl iR &t of Ut §1 39 e F SMUR W YaT oy, T
H-T1 U TS TEé © 2

(1) Sua & st s ferm &1 (2) SRt TS siferT Wi s )
(3) I TUSH AT oo ST T (4)  STR! SfeAr sAferT N oTeiA ¥

ek (FegHect) JOM kel 2l &2

(1) <Tel %h1E Al fordl AT o1 SEfeTT S 7, f59 € o 9% 3§ w191 o | ool o sialeh 31 e |
(2) @ HE Al T FHIH & H1fHer SR WSS Ieqal () & foag oo diem ©

(3) T AfF Tk feram & ferg e e 2

(4) 9 DI Al ST F HRO Y 9T HigaT €, S8 fom IR F forw

78T Ueh TS W & I ¥ | U ot T I e |t 9 o6 fohe wfea () 9 Heifia § 2
! ST, Ifd o A, THT Fa o o ok sSigard o | e o o amit & e ook o 0 R ufvrn
T off =afed & AR & oI H TU-A4 fIaR A 31T ot iR fomes fremor & wmfees o= o, set of
== B T | R B e U Hied T 3R fedifs 7 e shif< o Hec & oR H o1 i | grteies aierdH
& 9 foamdi 1 & = Wy fean

(1) i 9gfe (2) HrHITSTh TorR TR

(3) i<l Ff (4) fomm wafe

T TS o STEATIH GHTT D s IR T BIT § T 91 31k Tmereiier (RAfied) wiwrel o1 Heed el <o
¥ | UTereitet ShITel § SRl SR Areqd 2

(1) dEMAR TS (2) FEAUAR TS  (3) WO AR AW (4) 99 iR TEA

0T % TS STt SUrH (2T T1eA) H o wnthe € 2
(1) =, Tt =1 enfeal & |iw (e &6t g

(2) G, 9T A N % THY HIW T A

(3) U =AM, Ve, AT, ISR SR AR I Gl
(4) fafere auiEl &t 3R s
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145. Trefafed & T HE-91 o T e Hifd 2020 & gRT ITST qed & oTe7eE & I H 98§ ?
(1) T 93 o ST=<Id Tk faehed & &9 H IS A6 1 A=
(2) THSEd =10 o SRH WS AT H A

(3) TTEATHE RO H Teh hrseh (HIX) W1 o6 ®9 § I A6 1 AT

(4) HEAHE T h IRE Th TR foehed 6 €9 § T 9T o1 ST

146. 9T 1 hall B qRATSH 1 ot 31feheu T i 3R 39 fohanfad 3 § -1 =X Werd € ?

(1) Ug 9FMI, sk ot TgaH, FSH1 oA, Sihel T TIEHI, kel i AR, YT TG 3R
R weTd T

(2) GUE M1, AUk i Tg=H, AN SFMI, SAHS Hl GUERI, TET TGH, el i e 3R
R wea T

(3) A=A AR fenell faereht 7ot TTHER o0 qls | IRES ®rf i Aot iR frareaam
R Fhd T

(4) TUE M1, A5l SAMT, ShSl H GUGRI, kS hi AR, YT G, 2Ush i TgaH 3R
R Tr@ |

147. 9T % SR H HA-H1 GE T § ?
(1) o1 SfaeT 1 WS §
(2) T A FH % el A H ARIEH <t §
(3) FB Y Faw foam iR st @ Yem w9 Y T w5 w3
(4) T TeH ST Sl §

148. T U@ Temr foent Seva faeneff faviv & ek iR Yot uet o fafdre &= i 9g== o3 §, &
FECl § 2
(1) e wleqo 2) TIoHESR W (3) TAHS TE (4) AR TE

149. 9RA & dfaa o ST oo ot =1 feafa €2
(1) 92 TSt ool ) fagsh wmw
(3) dufes fehmEil st AT (4) TSR (SATHREA) W

150. heTl |1 1 STATURT fhREl Teoh SHfdd o o0 § Feidd oiE 1 <1 =edl ¢ | 98 hall ¥ o T8 3R
9 Hel | Teh T 1T bl 3ok T Afed Tehd 211 | 394 39 B 911 ¥ el foh a8 el § &8 9
e & foe o o frenfelll 0 -3 & Sl A 39 =afad 1 avie foem & fore et ag & arern 39

Tfafafy # form 9 H S SO ?
(1) G Fmen (2) Tifafafy 1 T gfayrd
(3) @i 4) Tvero weEes
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READ THE FOLLOWING INSTRUCTIONS CAREFULLY :

fereafaRad ool B e A U -

1. The mannerin which the different questions are to be answered has been | 1. forr g A fafdrer geal & 3R U o € 33 avfer wdten
explained in the Test Booklet which you should read carefully before actually gﬁﬂ?ﬁ[ # feparm orm g, forY 31y Uea & ¥ ¢ A Uee! e A UG
answering the questions. il

2. Outof the four alternatives for each question, only one circle forthe correct | 2. TG U9e & U feU o0 IR fadedl & & I 3R & fav OMR
answer is to be darkened completely with Blue / Black Ball Point Pen on IRIT P T%-2 R &dcT U T B a uﬁ TG eAei/dTel dict Uigee
Side-2 of the OMR Answer Sheet. The answer once marked is not liable I Y| U R AT b B & q1e 37 deeT el o Fhdl
to be changed. 3

3. Thecandidates should ensure that the OMR Answer Sheet is notfolqed. Do | 3. udemef gﬁﬁaﬁ & 5 3T SNTAIR IO 0F B A'S F T UG
RolNo snehereelscxmptinespood e nhomverShet, | 252 % 8 P ot | whend e gt e

' ' IR-U # fereriiva el & sifaRad s o ford |

4. Handlethe Test Booklet anq OMRAnsvyerSheet with care, as under no 4 e gﬁ?ﬁh‘[ U4 3NTH3R 3R U7 & W T &Y, iifs
circumstances (except for discrepancy in Test Booklet Code or Number Rralt oft aRPafY ¥ (bae wHer WdT UF SNTANT 9T T B
and OMR Answer Sheet Code or Number), another set will be provided. e o1 FE F B \ & ﬁe:%gaa‘r ; ) {Hﬁ e 7

5. The candidates will write the correct Test Booklet Code and Number as IUeTeE 8 perRh SEan | '
given in the Test Booklet/OMR Answer Sheet in the Attendance Sheet. 5, e TREEISITANT 3 U5 F RE 9T e o B 7

6. A machine \;vill read the coded ir;tformation in the OMR Answer Sﬁheet. ' T B THenell TE a9 F IuRafy-uw F o
Hence, noinformation should be leftincomplete and it should not be different B 5 -
from the information given in the Admit Card. 6. %MRW q;aﬁ B2 3y El;ﬁ Wﬁﬂ;ﬂ;fg # | ; E; Y ajg

Al AR o Bls 3R J& Yd=T-UaA ddl Hool

7. Candidates are not allowed to carry any textual material, printed or written, el TR
bits of papers, pager, mobile phone, electronic device or any other material o .
except the Admit Card inside the examination hall/room. 7. wendl grT wem W@ff AT a% Ei aw aa\_y‘_{sz TR B

UTeRl- AT, ag%.a AT ANCTRAd, BIaTel urdar, , dAAISc

8. Mobile phones, wireless communication devices (even in switched off FE sﬁ’c@ﬁ%{cﬁ Jueoer o R5oft 31 B 3 T @ o o A
mode) and the other banned items should not be brought in the examination f’ 3 @ 3 ey
halls/rooms. Failing to comply with this instruction, it will be considered as g ) . . )
using unfair means in the examination and action will be taken againstthe | 8. dIaTSel Bid, a?ﬂ? AR gﬁﬂ?ﬂ (R 3T 3razer & o) 3k 3=
candidate including cancellation of examination. yfoafed axqu Tten eicmer & 8 oTg ool aifeu | 3 Jgel H

9. Each candidate must show on demand histher Admit Card to the Invigilator. qﬁa ° ;E’ﬁ w @ ui’rarz[; siq T i{;ﬁ Waﬂa\q 19T G ST 2

&I 35@$daé GITEII, URIST Tg afeal

10. No candidate, without special permission of the Centre Superintendent or o 5 THenel. Rrfters @y s T
Invigilator, should leave his/her seat. 9. 933 w afredt, &ich I 3ATell YR !

. - . , 10. siefters o1 ferdteras ot faoiw srgqafa & foem &g wotemeft

11. Thecandidates should notleave the Examination Hall/Room without handing iﬁ ¢ B | ¢ & g ¢
over their OMR Answer Sheet to the Invigilator on duty and sign the el eTel o SIS )
Attendance Sheet twice. Cases where candidate has not signed the | 1. @ R ferdters @I 3rUer 3NTANR JaR U v foen vd 3uRafa-
Attendance Sheet second time will be deemed not to have handed over the T W gaRT &aRR v fuer udenel vden gasmer @ oo |
OMR Answer Sheet and dealt with as an unfair means case. The candidates Ife fpalt wdtemelt o {aﬁ IR JURATT-U3 TR gadiery &) fou,
are also reguire.d to put their left hand THUMB impression in the IE AT SO 6 3 3NTAIR 3T U5 A8l ailern & 3R I8
space provided in the Attendance Sheet. 3@%‘?[ 3T ST HIHCT FTET SO | gdterelt 3rast ard el % 3“1\%

12. Use of Electronic/Manual Calculator is prohibited. &1 foremet SuRerfy-usr & U 910 e R 39y ey |

13. The candidates are governed by all Rules and Regulations of the Examining | 12. Sciagiierdb/gaaalicia URGed &l Juair afvid &1
Body with regard to their conduct in the Examination Hall/Room. Allcases | 43, udflerr &far/mer & 3maewr & forp adtemelf uderor wzem & woft
of unfair means will be dealt with as per Rules and Regulations of the forralt vg Rferret grr R ¥ 3@%‘?[ et ¥ T A B
Examining Body. el T e & et v R & areEw

14. No paﬁoftheTest Booklet and OMR Answer Sheet shall be detached under 14. oot off Oy & gden gi\wib‘[ 3R 3TN TR T BT aﬁé
any circumstances. o7 37T & BY |

15. On completion of the te.st,. the c.andidate must hand over the. OMR | 4s. e T B W, werelt acirmer B A q\d‘- 3NTHAIR TR 751
Answer Sheet to the Inwgll?tor in the Hall / R.oom. The candidates Rflerd B 39T AT 1 ghemeff 37 T 7 7 gﬁ?ﬂ:‘l e
are allowed to take away this Test Booklet with them. o T 2|
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